# SUBMITTAL TO THE BOARD OF SUPERVISORS COUNTY OF RIVERSIDE, STATE OF CALIFORNIA

610



SUBMITTAL DATE:

December 18, 2014

**SUBJECT:** Approval of the Five Year Agreement with Baxter Healthcare Corporation through University Health Services Consortium/NOVATION Group Purchasing Organization (GPO). [All District; \$3,750,000,

Enterprise Funds]

**RECOMMENDED MOTION:** That the Board of Supervisors:

**FROM:** Riverside County Regional Medical Center (RCRMC)

- 1. Approve and execute Multi-Year Professional Services Novation Agreement with Baxter Healthcare Corporation for a term of five years, effective January 6, 2015 for an amount not to exceed \$750,000 annually; and
- 2. Authorize the Purchasing Agent, in accordance with Ordinance No. 459, to sign amendments that do not change the substantive terms of the agreement, including amendments to the compensation provision that do not exceed the annual CPI rates.

### **BACKGROUND:**

## **Summary**

Riverside County Regional Medical Center (RCRMC) is a 439-bed acute care public teaching hospital which includes an emergency treatment facility.

slh

Zareh H. Sarrafian, Pospital CEO

FINANCIAL DATA	Current Fiscal Year:	Next Fiscal Year:	Total Cost:	Ongoing Cost:	POLICY/CONSENT (per Exec. Office)
COST	\$ 750,000	\$ 750,000	\$ 3,750,000	\$ 0	Consent □ Policy M
NET COUNTY COST	\$ 0	\$ 0	\$ 0	\$ 0	Consent D Policy
SOURCE OF FUN	<b>DS:</b> Hospital En	terprise Fund 100	%	Budget Adjustn	nent: No
		A FO	PROVE	For Fiscal Year	: 14/15-18/19
C.E.O. RECOMME	NDATION:	BY	Debra Courney	Ungel	

**County Executive Office Signature** 

MINUTES OF THE BOARD OF SUPERVISORS

Positions Added	Change Order
] A-30	] 4/5 Vote
1_1	- 1 1

□ | **Prev. Agn. Ref.:** 09/23/14, 3-59

District: ALL

Agenda Number:

3-34

## SUBMITTAL TO THE BOARD OF SUPERVISORS, COUNTY OF RIVERSIDE, STATE OF CALIFORNIA

**FORM 11:** Multi-Year Professional Service Agreement with Baxter Healthcare Corporation through University Health Services Consortium/NOVATION Group Purchasing Organization (GPO) [All District; \$3,750,000,

Enterprise Funds]

DATE: December 18, 2014

PAGE: Page 2 of 2

### **BACKGROUND:**

## Summary (continued)

RCRMC has an Emergency Department which averages approximately 100,000 visits per year and is designated as a Level II adult and pediatric trauma center, treating nearly half of all trauma patients in Riverside County. In addition, there are over 70 outpatient clinics on the hospital's campus offering primary and specialty services. RCRMC's pharmacy department is in need of obtaining a supplier that can provide intravenous (IV) and irrigation solutions, and other pharmaceuticals. Baxter Healthcare provides all IV related supplies such as IV bags, tubing's, connectors, etc. As a diversified healthcare company, Baxter applies a unique combination of expertise in medical devices, pharmaceutical and biotechnology to create products that help advance patient care worldwide.

Currently, the supplies for IV solutions are volatile and there has been a shortage in place for over a year. It is predicted that these shortages will continue throughout the foreseeable future. According to the Institute for Safe Medication Practices (ISMP) dated January 30, 2014, "The U.S. is experiencing severe supply constraints involving commonly used intravenous (IV) fluids." Nonetheless, with the increase in pharmacy services over the past year, additional IV utilization is expected in the upcoming year therefore, RCRMC urgently needs to obtain a secure supplier for these products/supplies. As a longtime partner with Baxter, Baxter established a set allocation for supplies based on the hospitals historical usage for IV fluids, supplies and products—as reassurance.

This product category is unique in that all the suppliers of IV products require five (5) year term contracts, and this requirement is outside of Novation's and all healthcare GPOs agreements.

### Impact on Citizens and Businesses

This service impacts the patients residing in Riverside County receiving care from Riverside County Regional Medical Center to ensure the patients are provided with the best possible care with the aim of saving and sustaining the lives of people with hemophilia, immune disorders, infectious diseases, kidney disease, trauma, and other chronic and acute medical conditions.

### Contract History and Price Reasonableness

Prior to the procurement of establishing a single Group Purchasing Organization (GPO), RCRMC previously utilized three (3) separate GPO's. RCRMC utilized Baxter Healthcare for pharmaceuticals through MedAssets GPO. With the guidance of Huron Consulting Services, a Request for Proposal (RFP) MCARC-242 for GPO was conducted by County Purchasing on behalf of RCRMC. UHC/NOVATION was found to offer the best pricing, best coverage and most comprehensive value added programs. On September 23, 2014, agenda item number 3-59, the Board of Supervisors approved University Health Services Consortium/NOVATION as the primary GPO to provide medical supplies, pharmaceuticals, healthcare related services and capital equipment for RCRMC. Baxter Healthcare currently has a contract with UHC/NOVATION GPO offering the County a savings for first year of approximately \$130,000 as opposed to the previous GPO MedAssets/Baxter contracts that expired in November. This contract is necessary to bridge the contract's gap in services.



### **NOVATION AGREEMENT**

December 19, 2014

Riverside County Regional Medical Center 26520 Cactus Avenue Moreno Valley, CA 92555 Account #: 34136959

Attention:

Novation Facility ID#:102837/LUVN

Member Acute Beds: 300

Hereinafter referred to as "Member"

Baxter Healthcare Corporation William Graham Building 1-2N 25212 West Illinois Route 120 Round Lake, IL 60073 Attention: Amber Feffer

Fax: 847-270-3882

Hereinafter referred to as "Supplier"

INTRODUCTION. Member and Supplier are entering into this Novation Agreement (the "Agreement") agreeing to be bound by its terms. The "Start Date" of this Agreement will be January 13, 2015; provided Member signs this Agreement on or before January 6, 2015. In the event Member signs this Agreement after January 6, 2015, then the "Start Date" shall be five (5) business days from the date on which Member countersigns the Agreement, for orders placed direct through Supplier. Should Member choose to purchase products through an Authorized Distributor, Member acknowledges that Authorized Distributors may require up to forty-five (45) additional calendar days to adjust the pricing in their billing system and to notify Member of the adjusted pricing. Member understands that the prices an Authorized Distributor bills Member for products are at the Authorized Distributor's discretion. The Agreement will end on June 30, 2019 (the "End Date"). An "Agreement Year" begins on the Start Date and ends September 30, 2015, and means each subsequent year thereafter beginning on October 1st of such year. Notwithstanding the foregoing, both parties acknowledge that (i) administrative fees will not be paid to Novation after September 30, 2015 unless there is an agreement permitting the payment of such administrative fees to Novation between Baxter and Novation, and (ii) any Novation-sponsored rebates, such as the Standardization Rebate under the Group Agreement, shall immediately become null and void after September 30, 2015. Acceptance of additional orders on the same terms after expiration of this Agreement shall not constitute a renewal or extension of this Agreement.

Supplier agrees to supply Member with the Supplier products at the specified prices listed on Exhibit A of IV01011 and/or Exhibit A-1 ("Products"). Member agrees to buy these Products for its own use during the term of this Agreement from Supplier subject to the terms and conditions herein. A Member's own use is defined as use by the Member in a way that is part of and promotes the Member's intended institutional operation in the care of persons who are its patients. It is understood that Products purchased under this Agreement are not for resale in competition with other classes of trade or for use by patients outside of the immediate operation of the Member.

Member shall use best efforts to obtain assurances from each Authorized Distributor that any Product distributed to Members during the term of this Agreement was purchased directly from Supplier, and Member shall promptly notify Supplier if it becomes aware of violations of such assurances.

### 2. PRICING.

- a) Prices for Products as set forth on Exhibit A of IV01011will become effective on the Start Date and are firm for through September 30, 2015.
- b) Beginning October 1, 2015, prices for Products as set forth on Exhibit A-1 of this Agreement will become effective and are firm through September 30, 2016. Effective October 1, 2016 and on each subsequent Anniversary Date ("Anniversary Date" means October 1, 2017 and, each October 1st, thereafter) during the remaining term of this Agreement, prices will increase by an amount equal to twelve percent (12%). Such increase shall be in the aggregate across all Member purchases of Products from Supplier (excluding the Products identified in subsection (c) below) net of increases or decreases on a Product code by Product code basis, as determined by Supplier in its discretion, provided that any individual Product code may not be increased by more than fifty percent (50%) in any year of this Agreement.
- c) Notwithstanding the foregoing, Supplier shall have the right to increase (a) Tier 1 pricing and (b) prices on the Products identified in Exhibit A-1 of this Agreement under the subcategories of Amino Acids, Heavy Dextrose, any manufactured and/or distributed Supplier-provided Lipids, Nitroglycerin, Dopamine and Dobutamine by providing sixty (60) calendar days advance written notice to Member.

If a Member ceases to be a Member as indicated on the Novation Database, the Agreement will remain in full force and effect with the exception of Sections 3(b), or any other rebate provisions, which will no longer apply.

## 3. PRICE TIER OUALIFICATION: MEMBER REBATES: LIMITED TIER REOUIREMENT EXCEPTION.

(a) PRICE TIERS. Pricing available to Member depends on the purchase commitment Member elects to make to Supplier. By initialing the appropriate line in the Member Participation Tier Commitment column below, Member commits to purchase from Supplier not less than ninety percent (90%) of its total utilization in each Product Category as referenced by the Minimum Committed Volume ("MCV") in each Product Category, in each Agreement Year, during the term of this Agreement.

Member must meet all of the requirements of the applicable tier level for the entire measurement period to qualify for that pricing. Not more often than once a month, Supplier will review Member's Product purchases to the purchase commitment made by Member. Supplier, shall make an appropriate adjustment to pricing to reflect the correct tier for which Member qualifies, provided that Supplier notify Member thirty (30) days in advance of such adjustments prior to its effective date. Member's MCV amounts shall not be adjusted or affected by any tier movement to a less favorable tier.

If any non-compliance is caused by Supplier's inability to deliver, Supplier shall temporarily reduce the MCV commitment as outlined below. Member agrees that once Supplier is able to deliver, the temporary reduction of the MCV commitment shall no longer apply.

TOTAL PRODUCT PURCHASES – MEM	PARTICIPATION TIERS	MEMBER SELECTION		
Product Category	Minimum Committed Volume**			
S, N, D  (IV Fluids which includes IV Fluids/Irrigating Solutions, TPN Macronutrients, Small Volume MINI- BAG Containers)	\$909,904.33	Tier 3		
No Commitmen	ıt	Tier 1		

<sup>\*\*</sup> The historical purchases amounts listed above shall be adjusted for inflation (in accordance with Section 2) during each year of this Agreement.

### (b) MEMBER REBATES

- (i) <u>STANDARDIZATION REBATE</u>. Members who meet the requirements of Tiers 2 through 14 (but not including Tier 6) and meet all requirements of the Novation Standardization Program as set forth in Exhibit Z of IV01011 (the "Program") will also qualify for the Standardization Rebate. Supplier shall pay the Standardization Rebate in accordance with the terms of the Program.
- (ii) <u>DRUG DELIVERY LOYALTY PROGRAM</u>. Member may also qualify for additional discounts on the Volume Rebate Products and Loyalty Products in accordance with the terms of Attachment 2 to this Agreement ("Attachment 2").
- (iii) VOLUME REBATE. Should Member meet the volume tiers outlined below within any Agreement Year, Member will qualify for the following Volume Rebate for the Product codes specified on Attachment 3 to this Agreement ("Attachment 3") (the "Volume Rebate Products"); provided that Member is a Member as indicated on the Novation Database at the time Supplier makes the Volume Rebate calculation. Payments will be made in the form of a credit memo, or electronic funds transfer if the Member prefers, which will be issued within ninety (90) days following the end of the Agreement Year. The Volume Rebate will be calculated as of the end of each Agreement Year during the term hereof based upon such Member's purchases during the Agreement Year. The amount of the Volume Rebate for any Agreement Year will equal the percentage set forth below multiplied by Net Dollar Purchases of the Volume Rebate Products purchased by such Member during such Agreement Year. The following schedule will be used to determine the percentage of the Volume Rebate:

Agreement Year Purchases+	Volume Rebate Percentage
At least \$750,000 but less than \$3.0 million	1.0%
At least \$3.0 million but less than \$5.0 million	2.0%
\$5.0 million or more	3.0%

<sup>+</sup>Each of the Volume Rebate tiers listed in the chart above will be adjusted for inflation (in accordance with Section 2) in each year of the Agreement.

- (iv) <u>MEMBER COMPLIANCE</u>. Member must be in compliance with all material terms and conditions of this Agreement for the entire measurement period to be eligible to receive any of the rebates listed in this Agreement.
- 4. MEMBER FACILITIES. Member represents that the Facility List, attached hereto as Attachment 1 to this Agreement, to the Agreement (or if none is attached then Member's location noted in the Agreement) is a true and complete statement of all facilities in the United States owned or controlled by Member as of the Start Date of the Agreement, and in which Member uses Products. Member shall promptly notify Supplier of all changes to the Facility List in order to maintain the accuracy of the representation during the term of the Agreement. Additional facilities in the United States may be added only upon written request by the Member and only upon written agreement by Supplier's home office. The Start Date of pricing for new facilities will be the date set by Supplier. These facilities are only eligible for the pricing and terms of the Agreement while they are owned or controlled by the Member.

Products are to be bought by Member for its and facilities own use in the United States: neither Member itself, nor through any affiliate, agent or facility, shall export or otherwise transfer outside the United States Products acquired under the Agreement. Member represents that it and each of its locations and facilities, shall maintain for the duration of the Agreement all required local, state and federal licenses applicable to the purchase and use of the Products.

- 5. <u>PAYMENT TERMS</u>. Payment terms are 1%, 20 net 30 days from invoice date for payments made by check, cash or electronic funds transfer. A service charge of one (1 1/2%) per month (or the highest amount allowed by law, if lower) will be added to all amounts past due.
- 6. TERMS AND CONDITIONS. All purchases of Products by Member will be governed by Supplier's terms and conditions of sale as set forth in IV01011. It is Member's responsibility to be aware of the terms and conditions of IV01011 prior to submitting each order. In the event of any irreconcilable conflict in terms between this Agreement and the terms and conditions of IV01011, the terms and conditions of IV01011 will control.

Unless there is an agreement between Baxter and Novation, effective October 1, 2015, both parties acknowledge that all purchases of Products by Member will be governed by Supplier's then current terms and conditions of sale, which can be located at:

http://www.baxter.com/healthcare\_professionals/doing\_business\_with\_us/index.html

In addition to the terms and conditions in IV01011, the following terms shall also apply to Product purchases hereunder.

- (i) Member Inspection and Acceptance of Product at Delivery. Member must visually inspect and count all Product received prior to acceptance of delivery from the carrier. Any exception must be noted on both the packing list accompanying the shipment and the carrier's freight bill or bill of lading and signed by the Member. The carrier should countersign the packing list and the carrier's freight bill or bill of lading. Supplier's Member Service department must be notified of any delivery exceptions (e.g., shortage, damage, picking error, warehouse error, Member error, overage, labeling error, and order entry error) within two (2) business days of receipt of shipment for credit eligibility consideration under Supplier's Returned Goods Policy (as set forth in Exhibit C of IV01011).
- (ii) <u>Disputes Regarding Invoices</u>. All disputes regarding invoices must be submitted to Supplier's Credit and Collections department within 30 days after the date of invoice. All disputes or rights are waived unless the Member's complaint has been filed within such time period. Only amounts that are disputed may be withheld from payment pending resolution. Any portion of an invoice not in dispute must be remitted within the terms of sale. If the Member disputes an invoice or portion of an invoice and is incorrect, Member will pay additional finance charges referenced above (in Section 5) on any unpaid amounts in dispute and such charges will begin to accrue on the date payment was originally due.
- (iii) Returned Checks. Member will be assessed a \$50.00 service charge for returned checks.
- 7. **DISCLOSURES.** Member acknowledges that the purchase prices under this Agreement (including the value of any discounts, rebates or price concessions) are payments which are subject to the disclosure requirements as "discounts or other reductions in price" under the provision of Section 1128B(b)(3)(A) of the Social Security Act [42 U.S.C. § 1320a-7b(b)(3)(A)]. Member shall disclose the discounts or other reductions in price under any state or federal program, which provides cost or charge-based reimbursement to Member for the Products and services covered by this Agreement.
- **8. ENTIRE AGREEMENT.** If Supplier and Member are parties to any other agreements covering the same Products covered by this Agreement, then, with regard to such Products, this Agreement will supersede such other agreements.
- 9. MISCELLANEOUS. This Agreement is not valid until approved by Supplier at its home office. Any waiver of any of the provisions of this Agreement will not constitute a waiver of any other provision, nor will it constitute a continuing waiver. No changes in this Agreement, including any conflicting or additional terms contained in any purchase order or other document submitted by Member, will be valid unless approved in writing by Supplier at its home office. Both parties agree that a signed facsimile, or the electronic transmission of signature(s), in whole or in counterparts, is as valid as an original document, and is fully enforceable in accordance with its terms.
- 10. EARLY TERMINATION FEE. Beginning on the Start Date of this Agreement through September 30, 2015, if, at any time, Member decides to purchase Solutions/Fluids from another manufacturer, then Supplier reserves the right to invoice Member a shortfall amount (as liquidated damages, and not a penalty) equal to the sum of twenty percent (20%) of Member's prior two year's purchases of Products from Supplier (either under this Agreement or a prior agreement), or if Member had not purchased the majority of its Product requirements from Supplier in the previous two years, twenty percent (20%) times a good faith estimate of comparable product purchased by Member. Notwithstanding the foregoing, if this Agreement has a remaining term of two years or less at the time Member decides to purchase Solutions/Fluids from another manufacturer shall be equal to the sum of

twenty percent (20%) of Member's prior year's purchases. Member shall pay such shortfall payment within thirty (30) days of receipt of an invoice from Supplier.

Effective on October 1, 2015 through June 30, 2019, if Member's purchases of Products falls short of the MCV per Product Category as referenced in Section 3, then Member shall pay Supplier an amount equal to eighty percent (80%) of the differential between what was actually purchased and the MCV per the applicable Product Category, as defined in Section 3, during such Agreement Year. Supplier reserves the right to invoice Member for the total shortfall amount per applicable Product Category and Member shall pay such shortfall payment within thirty (30) days of receipt of an invoice from Supplier.

MIGRATION. If (i) Supplier enters into a new agreement with Novation (the "New Novation Agreement"), and (ii) Member is a member in good standing of Novation, and (iii) the New Novation Agreement with Supplier covers all of substantially all of the Products covered under this Agreement and the term of the New Novation Agreement will not expire prior to the end of the Term, then Member shall have the option to participate in and purchase Products from Supplier under the New Novation Agreement, subject to the satisfaction of the terms of Member participation set forth in such New Novation Agreement. Upon Member's participation under the New Novation Agreement, and the effective date of such participation (including full execution of a Member agreement if applicable), this Agreement shall automatically terminate on the effective date of participation under the New Novation Agreement; provided, however, that any obligations of either party arising or accrued hereunder prior to such termination date, and any provisions of this Agreement that expressly survive expiration or termination shall survive such termination. The early termination fee stated in Section 10 shall not apply to migration under this Section, provided however, Member would still be required to pay any outstanding shortfall due to Supplier.

IN WITNESS WHEREOF, the undersigned duly authorized representatives of the parties have executed this Agreement on the date below.

RIVERSIDE COUNTY REGIONAL MEDICAL CENTER	BAXTER HEALTHCARE CORPORATION
BY:	BY: WATER
NAME:	NAME: AMORIO, Sefer
TITLE:	TITLE: Sx Business Operation Analys
DATE:	DATE: 12/19/14
EMAIL:	
A MANUEL COUNCELL	

## ATTACHMENT 1 TO NOVATION AGREEMENT

ACCOUNT

FACILITY NAME: \_\_\_\_\_ FACILITY ADDRESS:

Riverside County Regional Medical Center Moreno Valley, CA Account #: 34136959

**Facility List and Statement** December 19, 2014

Initial Here:

## **Facility List and Statement** Facilities Owned or Managed by Member

		FACILITY CITY, NOVATION FACILI	STATE, TY ID #:	ZIP:	
use o	f the above Facilities to ownership or man	and their patients only. I	Member further rtue of an exist	represents and ing manageme	s Agreement are for the exclusive warrants that it owns or controls ent agreement) all facilities listed

### ATTACHMENT 2 TO NOVATION AGREEMENT

#### **Drug Delivery Loyalty Program**

- 1. Terms of Drug Delivery Loyalty Program. Any Member who fulfills at least ninety percent or more of its specialty drug delivery Product needs by purchasing the Volume Rebate and other Products (as identified in Attachment 3, the "Loyalty Products") listed on Attachment 3 (each, an "Eligible Member") shall be eligible for an additional discount on the Loyalty Products, subject to fulfillment of the requirements set forth in subsection A, B or C of this Attachment 2. By selecting the appropriate line(s) in Attachment 3, Eligible Member commits to purchase from Supplier, during the term of this Agreement, the specified quantities of the Loyalty Products. Eligible Member must meet all of the requirements of the applicable pricing level(s) for the entire measurement period to qualify for that pricing. Not more often than once a month, Supplier may review Eligible Member's Loyalty Product purchases (measured on a pro-rata basis) as compared to the purchase commitment made by Eligible Member. If Supplier determines that Eligible Member does not currently meet its purchase commitment, Supplier shall make an appropriate adjustment to pricing to reflect the correct pricing level(s) for which Eligible Member qualifies, provided that Supplier shall notify Eligible Member thirty (30) days in advance of such adjustments prior to its effective date.
  - A. Tier 6 Pricing. If an Eligible Member purchases: 1) 145 units or more of Frozen Products per Member Bed per year; and 2) 181 units or more of MiniBag Plus Products per Member Bed per year, and purchases at least 20 units or more of MiniBag Products per Member Bed per year, then such Eligible Member shall receive the Tier 6 Pricing listed on Exhibit A of IV01011 and/or Exhibit A-1 for all Frozen and MiniBag Plus Products. If, however, an Eligible Member purchases 145 units or more of Frozen Products per Member Bed per year but less than 181 units of MiniBag Plus Products per Member Bed per year, but purchases at least 20 units or more of MiniBag Products per Member Bed per year, then such Eligible Member shall receive the Tier 6 Pricing listed on Exhibit A of IV01011 and/or Exhibit A-1 for all Frozen Products and Tier 5 pricing for all MiniBag Plus Products. Finally, if an Eligible Member purchases less than 145 units of Frozen Products per Member Bed per year but purchases 181 units or more of MiniBag Plus Products per Member Bed per year, and purchases at least 20 units or more of MiniBag Products per Member Bed per year, then such Eligible Member shall receive the Tier 6 Pricing listed on Exhibit A of IV01011 and/or Exhibit A-1 for all MiniBag Plus Products and Tier 5 pricing for all Frozen Products. For all of the scenarios listed above, an Eligible Member shall pay the standard Tier pricing for MiniBag Products (i.e., Tier 3), but shall receive a rebate in an amount equal to the difference between such standard Tier pricing and the pricing set forth on Exhibit A of IV01011 and/or Exhibit A-1 for the MiniBag Products.
  - B. Tier 5 Pricing. If an Eligible Member purchases either: 1) 90 units to 144 units of Frozen Products per Member Bed per year; or 2) 114 units to 180 units of MiniBag Plus Products per Member Bed per year, and purchases at least 20 units or more of MiniBag Products per Member Bed per year, then such Eligible Member shall receive the Tier 5 Pricing for all Frozen and MiniBag Plus Products. An Eligible Member shall pay the standard Tier pricing for MiniBag Products (i.e., Tier 3), but shall receive a rebate in an amount equal to the difference between such standard Tier pricing and the pricing set forth on Exhibit A of IV01011 and/or Exhibit A-1 for the MiniBag Products.
  - C. <u>Tier 1 Pricing</u>. If an Eligible Member purchases less than: 1) 38 units of Frozen Products per Member Bed per year; and 2) 114 units or more of MiniBag Plus Products per Member Bed per year, or fails to purchase at least 20 units or more of MiniBag Products per Member Bed per year, then such Eligible Member shall receive the applicable level pricing (Tier 1, Tiers 2, 3 or 4) for all Frozen and MiniBag Products. By way of example only, if an Eligible Member purchases 100 units of Frozen Products per Member Bed per year, and 100 units of MiniBag Plus Products per Member Bed per year, but only purchased 15 units of MiniBag Products per Member Bed per year, then such Eligible Member would receive Tier 3 Pricing for all Frozen

Products, Tier 2 Pricing for all MiniBag Plus Products and would not qualify for a rebate for MiniBag Products.

- D. Rebate payments due under this Attachment 2 will be made in the form of a credit memo, or electronic funds transfer if the Eligible Member prefers, which will be issued within ninety (90) days following the end of the Agreement Year.
- E. Volume Rebates for the Volume Rebate Products shall be earned and paid in accordance with Section 3(b)(vi) of this Agreement.
- F. The prices set forth in Exhibit A and/or Exhibit A-1 of IV01011 shall be adjusted each year in accordance with Section 2 of this Agreement.

## ATTACHMENT 3 TO NOVATION AGREEMENT

Loyalty Products and Volume Rebate Products - Frozen Product Codes and Pricing as set forth in Exhibit A of IV01011 and/or Exhibit A-1  Frozen Units/Bed Tier Requirements		Eligible Member Purchases not meeting all requirements of Tier 5 or Tier 6*	Eligible Member Purchases meeting requirements of Tier 5 or Tier 6*	
		<38	90 – 144	>=145
Product	Description	Tier 1	Tier 5	Tier 6
2G3503	1 g Cefazolin			
2G3578	1 g Cefepime			
2G3579	2 g Cefepime			
2G3504	1 g Ceftriaxone			
2G3505	2 g Ceftriaxone			
2G3518	1 g Claforan			
2G3519	2 g Claforan			
2G3540	1 g Nafeillin			
2G3556	2 g Nafeillin			
2G3538	1 g Oxacillin			
2G3539	2 g Oxacillin			
2G3542	1 mu Penicillin G			
2G3543	2 mu Penicillin G			
2G3544	3 mu Penicillin G			
2G3551	500 mg Vancomycin			
2G3552	1 g Vancomycin		Name and the Company of the Company	
2G3580	750 mg Vancomycin			
MEMBER SELECTION	TO THE TOTAL PROPERTY OF THE PARTY OF THE PA			

<sup>\*</sup>Subject to the terms specified in Section 1(A) of Attachment 2.

• •	d Volume Rebate Products MiniBag and Pricing as set forth in Exhibit A xhibit A-1	Eligible Member Purchases not meeting all requirements of Tier 5 or Tier 6*	Eligible Member Purchases meeting requirements of Tier 5 or Tier 6*	
MiniBag Pl	us Units/Bed Tier Requirements	<68	114 – 180	>=181
Product	Description	Tier 1	Tier 5	Tier 6
2B0040	MiniBag Plus			
2B0041	MiniBag Plus			
2B0042	MiniBag Plus			
2B0043	MiniBag Plus			
MEMBER SELECTION				

<sup>\*</sup>Subject to the terms specified in Section 1(A) of Attachment 2.

	Products - MiniBag Product Codes and Pricing rth in Exhibit A of IV01011 and/or Exhibit A-1	>=20 MiniBag units and either Frozen or MB+ Product commitment meeting requirements of Tier 5 or Tier 6*
Product	Description	
2B1309	0.9% SOD CHL 100ML MINI-BAG VIAFLEX CONT 16-PAK	
2B1308	0.9% NACL INJ USP 50ML MINI-BAG VIAFLEX CONT 16PAK	
2B1307	0.9% NACL INJ USP 100ML MINI-BAG TM VIAFLEX CONT	
2B1306	0.9% NACL INJ USP 50ML MINI-BAG TM VIAFLEX CONT	
2B1302	0.9% NACL INJ USP 100ML MINI-BAG TM VIAFLEX CONT	
2B1301	0.9% NACL INJ USP 50ML MINI-BAG TM VIAFLEX CONT	
2B1300	0.9% SOD CHL INJ IN 25ML MINI-BAG VIAFLEX CONT	
2B0089	5% DEXTROSE INJ USP 100ML MINI-BAG VIAFLEX	
2B0088	5% DEXTROSE INJ USP 50ML	
2B0087	5% DEXTROSE INJ USP 100ML	
2B0086	5% DEXTROSE INJ USP 50ML	
2B0082	5% DEXTROSE INJ USP 100ML	
2B0081	5% DEXTROSE INJ USP 50ML	
2B0080	5% DEXTROSE INJ USP (5% DEXTROSE IN WATER) 25ML	

<sup>\*</sup>Subject to the terms specified in Section 1(A) of Attachment 2.

RIVERSIDE COUNTY REGIONAL MEDICAL CENTER	BAXTER HEALTHCARE CORPORATION
	A In M
BY:	BY:
NAME:	NAME AND EDER
TITLE:	TITLE: Sr. BOTHES OPERATOR ANUST
DATE:	DATE: 12/19/14

Member: Please provide following banking information to receive rebates via electronic funds transfer.

Bank Name, City, State:	
ABA Number:	
Account Number:	
Account/Payee Name:	

## Riverside Regional County Hospital #34136959

## Exhibit A-1

Product Number	Special Pricing Subcategory	MCV Product Category	NDC/X- Reference/GTIN#	Product Description	P/F	Each Price	Case Price
1A0692	Nitroglycerin	DRUG DELIVERY	00338104702	25MG NITROGLYCERIN IN 5% DEXTR	12	\$5.854	\$70.253
IA0694	Nitroglycerin	DRUG DELIVERY	00338104902	50MG NITROGLYCERIN IN 5% DEXTR	12	\$6.166	\$73.986
1A0696	Nitroglycerin	DRUG DELIVERY	00338105102	100MG NITROGLYCERIN IN 5% DEXT	12	\$6.553	\$78.636
1A8501		SOLUTIONS - FLUID THERAPY	08541204613	EVACUATED CONTAINER-150 ML	12	\$11.667	\$140.000
1A8502		SOLUTIONS - FLUID THERAPY	08541204614	EVACUATED CONTAINER-250 ML	12	\$10.719	\$128.632
1A8503		SOLUTIONS - FLUID THERAPY	08541204615	EVACUATED CONTAINER-500 ML	12	\$12.454	\$149.451
1A8504		SOLUTIONS - FLUID THERAPY	08541204616	EVACUATED CONTAINER - 1000 ML	6	\$12.848	\$77.085
1B6623	Amino Acids	NUTRITION	00338064403	10% TRAVASOL (AMINO ACID) INJ.	24	\$11.966	\$287.178
1B6624	Amino Acids	NUTRITION	00338064404	10% TRAVASOL (AMINO ACID) INJ	12	\$18.207	\$218.480
1B6626P	Amino Acids	NUTRITION	00338064406	10% TRAVASOL (AMINO ACID) INJ.	6	\$36.175	\$217.049
1C8037		ACCESS IV TUBING / COMPONENTS	85412019982	3-LEAD EXTENSION SET	48	\$3.922	\$188.261
1C8043		ACCESS IV TUBING / COMPONENTS	08541201999	VENTED NITROGLYCERIN	48	\$7.708	\$369.989
1C8061		ACCESS IV TUBING / COMPONENTS	08541202005	Y-EXTENSION SET	48	\$2.658	\$127.597
1C8082		ACCESS IV TUBING / COMPONENTS	08541202013	EXTENSION SET	48	\$3.306	\$158.684
1C8089		ACCESS IV TUBING / COMPONENTS	08541202018	BASIC SET, 60	48	\$2,325	\$111.619
1C8109		ACCESS IV TUBING / COMPONENTS	08541203179	BASIC SET, 10	48	\$2.469	\$118.523
1C8123		ACCESS IV TUBING / COMPONENTS	85412020384	Y-EXTENSION SET	48	\$2.518	\$120.878
1C8150		ACCESS IV TUBING / COMPONENTS	85412020544	EXTENSION SET	48	\$1.790	\$85.900
1C8160		ACCESS IV TUBING / COMPONENTS	08541202059	BASIC SET	48	\$2.911	\$139.733
1C8189	1 1	ACCESS IV TUBING / COMPONENTS	08541202071	EXTENSION SET	48	\$2.440	\$117,106
1C8193		ACCESS IV TUBING / COMPONENTS	85412020742	EXTENSION SET	48	\$1.629	\$78.209
1C8200		ACCESS IV TUBING / COMPONENTS	08541202076	VENTED BASIC SET	48	\$3.411	\$163.716

		T		T	
Other	08541202082	Y-TYPE EXTENSION SET	48	\$4.041	\$193.947
Other	08541202094	T.U.R IRRIGATION SET	48	\$6.048	\$290.300
ACCESS IV TUBING / COMPONENTS	08541202096	EXTENSION SET	48	\$2.266	\$108.770
ACCESS IV TUBING / COMPONENTS	08541202097	SPECIAL DECANTING SET	48	\$1.747	\$83.843
ACCESS IV TUBING / COMPONENTS	85412021022	3 LEAD EXTENSION SET	48	\$5.706	\$273.880
ACCESS IV TUBING / COMPONENTS	08541202104	NEEDLE*LOCK(TM) DEVICE	48	\$2.068	\$99.274
ACCESS IV TUBING / COMPONENTS	08541202107	EXTENSION SET	48	\$2.733	\$131.165
ACCESS IV TUBING / COMPONENTS	85412021084	INTERLINK SYSTEM CONTINU FLO	48	\$13.342	\$640.395
ACCESS IV TUBING / COMPONENTS	08541202109	EXTENSION SET	48	\$2.729	\$131.002
Other	08541202110	CONTINU-FLO(R) SET	48	\$11.000	\$527.994
ACCESS IV TUBING / COMPONENTS	85412021138	INTERLINK SYSTEM NON- DEHP	48	\$5.750	\$275.996
ACCESS IV TUBING / COMPONENTS	08541202115	BASIC SET	48	\$3.430	\$164.628
ACCESS IV TUBING / COMPONENTS	08541201359	STOPCOCK MINIVOLUME EXTENSION	48	\$5.619	\$269.696
ACCESS IV TUBING / COMPONENTS	08541201361	BLOOD BAG SPIKE	48	\$3.022	\$145.063
ACCESS IV TUBING / COMPONENTS	08541201369	SOLUTION SET	48	\$3.772	\$181.060
ACCESS IV TUBING / COMPONENTS	08541201371	EXTENSION SET	48	\$6.582	\$315.930
Other	85412013751	INTERLINK SYSTEM EXTENSION SET	48	\$7.070	\$339.340
Other	08541201376	INTERLINK SYSTEM CONTINU FLO	48	\$6.610	\$317.301
ACCESS IV TUBING / COMPONENTS	08541201377	Y-TYPE BLOOD SET	48	\$7.916	\$379.955
ACCESS IV TUBING / COMPONENTS	08541201380	EXTENSION SET	48	\$2.363	<b>\$</b> 113.419
Other	08541201381	INTERLINK SYSTEM NON- DEHP	48	\$3.746	\$179.804
ACCESS IV TUBING / COMPONENTS	08541201387	CONTINU-FLO (R) SET, 10	48	\$4.509	\$216.428
ACCESS IV TUBING / COMPONENTS	08541201391	NON-DEHP MINIVOLUME EXTENSION	48	\$2.315	<b>\$</b> 111.105
ACCESS IV TUBING / COMPONENTS	08541201402	EXTENSION SET	48	\$2.238	\$107.437
ACCESS IV TUBING / COMPONENTS	08541201404	Y-TYPE SPIKE ADAPTER	48	\$3.708	\$177.973
ACCESS IV TUBING / COMPONENTS	85412014062	BURETROL (R) SET	12	\$10.491	\$125.890
ACCESS IV TUBING / COMPONENTS	08541201409	CONTINU-FLO (R) SET, 10	48	\$5.379	\$258,216
	Other  ACCESS IV TUBING / COMPONENTS  Other  ACCESS IV TUBING / COMPONENTS  ACCESS IV TUBING / COMPONENTS	Other 08541202094  ACCESS IV TUBING / COMPONENTS 08541202096  ACCESS IV TUBING / COMPONENTS 08541202097  ACCESS IV TUBING / COMPONENTS 085412021022  ACCESS IV TUBING / COMPONENTS 08541202104  ACCESS IV TUBING / COMPONENTS 08541202107  ACCESS IV TUBING / COMPONENTS 08541202107  ACCESS IV TUBING / COMPONENTS 08541202109  Other 08541202109  Other 08541202110  ACCESS IV TUBING / COMPONENTS 085412021138  ACCESS IV TUBING / COMPONENTS 08541202115  ACCESS IV TUBING / COMPONENTS 08541202115  ACCESS IV TUBING / COMPONENTS 08541201359  ACCESS IV TUBING / COMPONENTS 08541201361  ACCESS IV TUBING / COMPONENTS 08541201369  ACCESS IV TUBING / COMPONENTS 08541201371  Other 08541201371  Other 08541201376  ACCESS IV TUBING / COMPONENTS 08541201376  ACCESS IV TUBING / COMPONENTS 08541201377  ACCESS IV TUBING / COMPONENTS 08541201381  ACCESS IV TUBING / COMPONENTS 08541201387  ACCESS IV TUBING / COMPONENTS 08541201387  ACCESS IV TUBING / COMPONENTS 08541201387  ACCESS IV TUBING / COMPONENTS 08541201391  ACCESS IV TUBING / COMPONENTS 08541201402  ACCESS IV TUBING / COMPONENTS 08541201404  ACCESS IV TUBING / COMPONENTS 08541201404  ACCESS IV TUBING / COMPONENTS 08541201404  ACCESS IV TUBING / COMPONENTS 085412014062  ACCESS IV TUBING / COMPONENTS 085412014062	Other 08541202094 T.U.R IRRIGATION SET  ACCESS IV TUBING / COMPONENTS 08541202096 EXTENSION SET  ACCESS IV TUBING / COMPONENTS 8541202097 SPECIAL DECANTING SET  ACCESS IV TUBING / COMPONENTS 85412021022 3 LEAD EXTENSION SET  ACCESS IV TUBING / COMPONENTS 8541202104 NEEDLE*LOCK(TM) DEVICE  ACCESS IV TUBING / COMPONENTS 08541202107 EXTENSION SET  ACCESS IV TUBING / COMPONENTS 85412021084 FLO  ACCESS IV TUBING / COMPONENTS 8541202109 EXTENSION SET  ACCESS IV TUBING / COMPONENTS 08541202110 CONTINU-FLO(R) SET  Other 08541202110 CONTINU-FLO(R) SET  ACCESS IV TUBING / COMPONENTS 85412021138 INTERLINK SYSTEM NON-DEHP  ACCESS IV TUBING / COMPONENTS 08541202115 BASIC SET  ACCESS IV TUBING / COMPONENTS 08541201359 STOPCOCK MINIVOLUME EXTENSION  ACCESS IV TUBING / COMPONENTS 08541201361 BLOOD BAG SPIKE  ACCESS IV TUBING / COMPONENTS 08541201369 SOLUTION SET  ACCESS IV TUBING / COMPONENTS 08541201371 EXTENSION SET  ACCESS IV TUBING / COMPONENTS 08541201371 EXTENSION SET  Other 8541201371 EXTENSION SET  Other 8541201371 INTERLINK SYSTEM CONTINU FLO  Other 08541201371 ONSTELLINK SYSTEM CONTINU FLO  ACCESS IV TUBING / COMPONENTS 08541201371 EXTENSION SET  INTERLINK SYSTEM CONTINU FLO  Other 08541201371 INTERLINK SYSTEM CONTINU FLO  ACCESS IV TUBING / COMPONENTS 08541201380 EXTENSION SET  INTERLINK SYSTEM CONTINU FLO  Other 08541201377 Y-TYPE BLOOD SET  ACCESS IV TUBING / COMPONENTS 08541201387 CONTINU-FLO (R) SET, 10  ACCESS IV TUBING / COMPONENTS 08541201387 CONTINU-FLO (R) SET, 10  ACCESS IV TUBING / COMPONENTS 08541201402 EXTENSION SET  ACCESS IV TUBING / COMPONENTS 08541201404 Y-TYPE SPIKE ADAPTER  ACCESS IV TUBING / COMPONENTS 08541201404 Y-TYPE SPIKE ADAPTER  ACCESS IV TUBING / COMPONENTS 08541201404 Y-TYPE SPIKE ADAPTER  ACCESS IV TUBING / COMPONENTS 08541201404 Y-TYPE SPIKE ADAPTER  ACCESS IV TUBING / COMPONENTS 08541201404 Y-TYPE SPIKE ADAPTER  ACCESS IV TUBING / COMPONENTS 08541201404 Y-TYPE SPIKE ADAPTER  ACCESS IV TUBING / COMPONENTS 08541201404 Y-TYPE SPIKE ADAPTER	Other	Other 08541202094 T.U.R. IRRIGATION SET 48 \$6.048  ACCESS IV TUBING / COMPONENTS 08541202096 EXTENSION SET 48 \$1.747  ACCESS IV TUBING / COMPONENTS 08541202097 SPECIAL DECANTING SET 48 \$1.747  ACCESS IV TUBING / COMPONENTS 085412021022 3 LEAD EXTENSION SET 48 \$5.706  ACCESS IV TUBING / COMPONENTS 08541202104 NEEDLE*LOCK(TM) DEVICE 48 \$2.068  ACCESS IV TUBING / COMPONENTS 08541202107 EXTENSION SET 48 \$2.733  ACCESS IV TUBING / COMPONENTS 08541202107 EXTENSION SET 48 \$2.733  ACCESS IV TUBING / COMPONENTS 08541202109 EXTENSION SET 48 \$1.3.342  ACCESS IV TUBING / COMPONENTS 08541202109 EXTENSION SET 48 \$1.000  ACCESS IV TUBING / COMPONENTS 08541202110 CONTINU-FLO(R) SET 48 \$1.000  ACCESS IV TUBING / COMPONENTS 085412021138 DEVICE 48 \$1.000  ACCESS IV TUBING / COMPONENTS 08541202113 BASIC SET 48 \$1.000  ACCESS IV TUBING / COMPONENTS 08541201359 EXTENSION EXTE

1C8454	ACCESS IV TUBING / COMPONENTS	08541201413	MINIVOLUME EXTENSION SET	48	\$3.189	\$153.078
1C8455	Other	85412027482	INTERLINK SYSTEM NON- DEHP	48	\$8.344	\$400.522
1C8457	ACCESS IV TUBING / COMPONENTS	85412014154	BIFURCATED BASIC SOLUTION SET	48	\$5.261	\$252.543
1C8462	Other	85412014185	INTERLINK SYSTEM NON- DEHP	48	\$8.498	\$407.926
1C8471	ACCESS IV TUBING / COMPONENTS	85412014192	STOPCOCK WITH EXTENSION SET,	48	\$4.029	\$193.405
1C8476	ACCESS IV TUBING / COMPONENTS	85412014208	BASIC SOLN SET	48	\$2.861	\$137.338
1C8498	ACCESS IV TUBING / COMPONENTS	85412014253	STRAIGHT TYPE BLOOD SET	48 -	\$3.686	\$176.945
1C8502	ACCESS IV TUBING / COMPONENTS	08541201427	BASIC SOLUTION SET	48	\$7.005	\$336.227
1C8504	ACCESS IV TUBING / COMPONENTS	08541201429	EXTENSION SET	100	\$2.748	\$274.805
1C8506	ACCESS IV TUBING / COMPONENTS	85412014307	INTERLINK SYSTEM CONTINU FLO	48	\$10.780	\$517.460
1C8507	ACCESS IV TUBING / COMPONENTS	08541201431	VENTED BASIC SOLUTION SET, 10	48	\$4.933	\$236.766
1C8533	ACCESS IV TUBING / COMPONENTS	08541201443	INTERLINK SYSTEM VENTED	48	\$6.140	\$294.736
1C8537	Other	85412014451	COTINU-FLO (R) SET	48	\$12.133	\$582.386
1C8566	Other	85412014598	VENTED BURETROL SOLN SET	12	\$12.142	\$145.703
1C8571	ACCESS IV TUBING / COMPONENTS	85412048449	INTERLINK SYSTEM EXTENSION SET	48	\$3.794	\$182.088
1C8579	ACCESS IV TUBING / COMPONENTS	08541201465	VENTED SOLUTION SET	48	\$5.791	\$277.991
IC8581	ACCESS IV TUBING / COMPONENTS	08541201466	Y-TYPE SOLUTION SET	48	\$7.287	\$349.774
1C8582	ACCESS IV TUBING / COMPONENTS	85412014673	EXTENSION SET, VOL. 1.0 ML	48	\$2.109	\$101.244
1C8585	Other	08541201469	EXTENSION SET	48	\$3.382	\$162.352
1C8589	ACCESS IV TUBING / COMPONENTS	08541201472	Y-TYPE BLOOD/SOLN SET	48	\$13.374	\$641.938
1C8592	Other	08541201475	BIFURACTED ADD-ON TRANSFER SET	48	\$4.319	\$207.303
1C8614	ACCESS IV TUBING / COMPONENTS	08541201486	SOLUTION SET	48	\$1.318	\$63.268
1C8621	ACCESS IV TUBING / COMPONENTS	08541201491	CONTINU-FLO (R) SOLUTION SET	48	\$8:065	\$387.118
1C8624	ACCESS IV TUBING / COMPONENTS	08541203184	EXTENSION SET	48	\$2.499	<b>\$</b> 119.940
1C8627	ACCESS IV TUBING / COMPONENTS	08541203185	SOLUTION SET, 10	48	\$1.867	\$89.623
1C8628	ACCESS IV TUBING / COMPONENTS	08541203186	SOLUTION SET, 60	48	\$2.505	\$120.217
IC8640	Other	85412031953	EXTENSION SET	48	\$2.048	\$98.297

Other **EXTENSION SET** 1C8641 85412031960 \$2.861 \$137.330 48 Other SOLUTION SET, 10 85412031977 \$110.773 1C8642 48 \$2,308 Other 85412032028 **EXTENSION SET** \$714.947 200 \$3.575 1C8649 ACCESS IV TUBING / INTERLINK SYSTEM CONTINU COMPONENTS **FLO** 08541203204 48 \$10.545 \$506.144 1C8651 ACCESS IV TUBING / COMPONENTS **EXTENSION SET** 08541203208 IC8657 48 \$3.154 \$151.414 Other CONTINU-FLO SOLUTION SET 1C8669 08541204026 48 \$8.033 \$385.572 CLEARLINK SYSTEM Other **EXTENSION SET** 08541204736 48 \$7.962 \$382.169 1C8684 ACCESS IV TUBING / CLEARLINK SYSTEM BLOOD COMPONENTS 08541206826 BAG 48 \$3.235 \$155.271 1C8687 ACCESS IV TUBING / **EXTENSION SET** COMPONENTS 1C8688 08541205026 48 \$3.151 \$151.226 ACCESS IV TUBING / CLEARLINK SYSTEM 1C8693 COMPONENTS 08541205172 EXTENSION SET 48 \$4.016 \$192.756 INTERLINK SYSTEM STRAIGHT TYPE Other 1C8709 08541207424 48 \$5.526 \$265.239 ACCESS IV TUBING / COMPONENTS INTERLINK SYSTEM Y-TYPE 85412073892 1C8711 48 \$8.852 \$424.873 ACCESS IV TUBING / COMPONENTS **BURETROL SOLUTION SET** 1C8712 08541207336 12 \$15.015 \$180.179 ACCESS IV TUBING / COMPONENTS STRAIGHT TYPE BLOOD SET 85412073656 1C8714 48 \$6.526 \$313.254 Other INTERLINK SYSTEM Y-TYPE 1C8715 08541207391 48 \$8.658 \$415.601 ACCESS IV TUBING / 1C8716 COMPONENTS 85412073908 INTERLINK SYSTEM Y-TYPE 48 \$9.173 \$440.304 ACCESS IV TUBING / CLEARLINK SYSTEM COMPONENTS CONTINU-FLO 1C8722 08541207442 48 \$12.383 \$594.403 ACCESS IV TUBING / CLEARLINK SYS CONTINU-COMPONENTS 08541207744 FLO SOLN 1C8727 48 \$8.626 \$414.071 CLEARLINK Y-TYPE Other **EXENSION SET** IC8736 85412080579 \$4.024 \$193.164 ACCESS IV TUBING / CLEARLINK SYSTEM COMPONENTS **EXTENSION SET** 1C8738 08541208181 48 \$6,042 \$290.024 ACCESS IV TUBING / CLEARLINK SYSTEM COMPONENTS MINIVOLUME 1C8739 08541208192 48 \$4.415 \$211.922 ACCESS IV TUBING / INTERLINK SYSTEM COMPONENTS MINIVOLUME 08541208202 \$283,422 1C8740 48 \$5,905 ACCESS IV TUBING / IL SYS NON-DEHP SOL SET 10 COMPONENTS DPM 1C8742 08541208208 \$7.393 \$354.843 48 ACCESS IV TUBING / COMPONENTS 08541201348 42 IN. SUB-Q-SET \$5.108 1M8463 \$153.251 30 ACCESS IV TUBING / 1M8472 COMPONENTS 08541201349 24 IN. SUB-Q-SET 30 \$4.024 \$120.727 ACCESS IV TUBING / INTERLINK SYSTEM COMPONENTS SOLUTION SET IW5000 08541201547 75 \$5.854 \$439,066 10% PREMASOL SULFITE-NUTRITION 2B0009 Amino Acids 00338113004 **FREE** 12 \$43.802 \$525,628

	7171310113					
Amino Acids	NUTRITION	00338113006	10% PREMASOL SULFITE- FREE	6	\$73,503	\$441.017
Amino Acids	NUTRITION	00338113103	6% PREMASOL SULFITE-FREE	24	\$20.790	\$498.960
Amino Acids	NUTRITION	00338113003	500 ML 10% PREMASOL	24	\$24.362	\$584.677
	DRUG DELIVERY	00338055111	5% DEX INJ, USP, 50ML IN MINI-	80	\$2.822	\$225.738
	DRUG DELIVERY	00338055118	5% DEX INJ, USP, 100 ML IN MIN	80	\$2.822	\$225.738
	DRUG DELIVERY	00338055311	0.9% SOD CHL INJ, USP, 50ML IN	80	\$2.822	\$225.738
	DRUG DELIVERY	00338055318	0.9% NACL INJ USP, 100ML IN MI	80	\$2.822	\$225.738
	DRUG DELIVERY	00338001701	5% DEX INJ USP 150ML	36	\$1,506	\$54.229
	SOLUTIONS - FLUID THERAPY	00338001702	5% DEXTROSE INJ USP 250 ML	36	\$1.436	\$51.695
	SOLUTIONS - FLUID THERAPY	00338001703	5% DEXTROSE INJ USP 500 ML	24	\$1.490	\$35.749
	SOLUTIONS - FLUID THERAPY	00338001704	5% DEXTROSE INJ USP 1000ML	14	\$1.792	\$25.084
	DRUG DELIVERY	00338001710	5% DEXTROSE INJ USP (5% DEXTRO	48	\$1.599	\$76.728
	DRUG DELIVERY	00338001711	5% DEXTROSE INJ USP 50 ML	96	\$1.524	\$146.311
	DRUG DELIVERY	01376025482	5% DEXTROSE INJ USP 100 ML	96	\$1.518	\$145.774
	DRUG DELIVERY	00338001741	5% DEXTROSE INJ USP 50 ML	96	\$1.636	\$157.086
	DRUG DELIVERY	00338001748	5% DEXTROSE INJ USP 100 ML	96	\$1.620	\$155.547
	DRUG DELIVERY	00338001731	5% DEXTROSE INJ USP 50 ML	96	\$1.413	\$135.650
	DRUG DELIVERY	00338001738	5% DEXTROSE INJ USP 100 ML MIN	96	\$1.413	\$135.650
Heavy Dextrose	NUTRITION	00338071913	70% DEX INJ (500 ML IN 1000 ML	12	\$8.828	\$105.934
	SOLUTIONS - FLUID THERAPY	00338002302	10% DEXTROSE INJ USP 250 ML	36	\$1.993	\$71.755
	SOLUTIONS - FLUID THERAPY	00338002303	10% DEXTROSE INJ USP 500ML	24	\$2.133	\$51.180
	SOLUTIONS - FLUID THERAPY	00338002304	10% DEXTROSE INJ USP 1000ML	14	\$2.717	\$38.032
Heavy Dextrose	NUTRITION	00338071906	70% DEXTROSE INJECTION (2000ML	6	\$13.384	\$80.307
	SOLUTIONS - FLUID THERAPY	00338001304	STERILE WATER FOR INJ.USP	14	\$3.111	\$43.552
	NUTRITION	00338001306	STER WATER FOR INJ. USP 2000	6	\$4.637	\$27.819
	NUTRITION		STERILE WATER FOR INJ. USP	4	\$7.909	\$31.637
	NUTRITION	00338001329	STERILE WATER FOR INJ. USP	2	\$13.202	\$26.405
	Amino Acids  Amino Acids	Amino Acids  Amino Acids  NUTRITION  Amino Acids  DRUG DELIVERY  DRUG DELIVERY  DRUG DELIVERY  DRUG DELIVERY  DRUG DELIVERY  SOLUTIONS - FLUID THERAPY  DRUG DELIVERY  Heavy Dextrose  NUTRITION  SOLUTIONS - FLUID THERAPY  Heavy Dextrose  NUTRITION  SOLUTIONS - FLUID THERAPY  Heavy Dextrose  NUTRITION  SOLUTIONS - FLUID THERAPY  Heavy Dextrose  NUTRITION  NUTRITION  NUTRITION  NUTRITION  NUTRITION  NUTRITION	Amino Acids  Autrition  Amino Acids  Amino Acids  Amino Acids  Autrition  Amino Acids  Autrition  Amino Acids  Autrition  Amino Acids  Autrition  Amino Acids  Amino Acids  Autrition  Autrition	Amino Acids   NUTRITION   00338113006   FREE	Amino Acids NUTRITION 00338113103 6 PREMASOL SULFITE-FREE 24 Amino Acids NUTRITION 00338113103 500 ML 10% PREMASOL 24  Amino Acids NUTRITION 00338113103 500 ML 10% PREMASOL 24  50% DEX INJ, USP, 50ML IN MINI- MINI- MINI- MINI- DRUG DELIVERY 00338055111 0.9% SOD CHL INJ, USP, 100 ML IN MINI- DRUG DELIVERY 00338055311 0.9% NACL IN USP, 100 ML IN MINI- BRUG DELIVERY 00338055318 0.9% NACL IN USP, 100 ML IN MINI- BRUG DELIVERY 00338055318 0.9% NACL IN USP, 100 ML IN MINI- BRUG DELIVERY 00338055318 0.9% NACL IN USP, 100 ML IN MINI- BRUG DELIVERY 00338001701 0.9% NACL IN USP, 100 ML IN MINI- BRUG DELIVERY 00338001702 0.9% NACL IN USP, 100 ML IN MINI- BRUG DELIVERY 00338001703 0.9% NACL IN USP, 100 ML IN MINI- BRUG DELIVERY 00338001703 0.9% NACL IN USP, 100 ML IN MINI- BRUG DELIVERY 00338001704 0.9% DEXTROSE INJ USP 500 ML IN MINI- BRUG DELIVERY 00338001704 0.9% DEXTROSE INJ USP 500 ML IN MINI- BRUG DELIVERY 00338001704 0.9% DEXTROSE INJ USP 500 ML IN MINI- BRUG DELIVERY 00338001710 0.9% DEXTROSE INJ USP 500 ML IN MINI- BRUG DELIVERY 00338001711 0.9% DEXTROSE INJ USP 50 ML IN MINI- BRUG DELIVERY 00338001711 0.9% DEXTROSE INJ USP 50 ML IN MINI- MINI- MINI- BRUG DELIVERY 00338001711 0.9% DEXTROSE INJ USP 50 ML IN MINI- MINI- MINI- BRUG DELIVERY 00338001711 0.9% DEXTROSE INJ USP 50 ML IN MINI- MINI- BRUG DELIVERY 00338001711 0.9% DEXTROSE INJ USP 50 ML IN MINI- MINI- MINI- MINI- BRUG DELIVERY 00338001731 0.9% DEXTROSE INJ USP 50 ML IN MINI- MINI- MINI- MINI- BRUG DELIVERY 00338001731 0.9% DEXTROSE INJ USP 50 ML IN MINI- MINI- MINI- MINI- MINI- MINI- MINI- BRUG DELIVERY 00338001731 0.9% DEXTROSE INJ USP 50 ML IN MINI- MINI	Amino Acids Amino

DOBUTAMINE DRUG DELIVERY **HYDROCHLORIDE IN 5%** 2B0791 Dobutamine 00338107302 18 \$6.760 \$121.686 DOBUTAMINE DRUG DELIVERY 00338107502 **HYDROCHLORIDE IN 5%** 2B0792 \$10.820 \$194.760 Dobutamine 18 DOBUTAMINE DRUG DELIVERY 00338107702 **HYDROCHLORIDE IN 5%** 2B0793 Dobutamine \$301,189 18 \$16.733 POTASSIUM CHLORIDE INJ, 10 DRUG DELIVERY 2B0821 00338070541 MEQ \$2.639 \$63.348 24 POTASSIUM CHLORIDE INJ,20 2B0822 DRUG DELIVERY 00338070341 MEQ \$62.099 24 \$2.587 POTASSIUM CHLORIDE INJ,40 DRUG DELIVERY MEQ 2B0824 00338070348 24 \$2.636 \$63,268 POTASSIUM CHLORIDE INJ, 10 DRUG DELIVERY MEQ 2B0826 00338070948 24 \$2,690 \$64.554 POTASSIUM CHLORIDE INJ,20 DRUG DELIVERY 2B0827 00338070548 MEO 24 \$2.636 \$63.268 200MG DOPAMINE HCL IN 5% DRUG DELIVERY 2B0832 00338100502 DEX I \$7.520 \$135.358 Dopamine 18 400 MG DOPAMINE HCL IN 5% DRUG DELIVERY 2B0833 Dopamine 00338100503 DEX 12 \$11.723 \$140,681 400MG DOPAMINE HCL IN 5% DRUG DELIVERY DEX I 2B0842 00338100702 Dopamine 18 \$9.535 \$171.637 800 MG DOPAMINE HCL IN 5% DRUG DELIVERY DEX 2B0843 Dopamine 00338100703 12 \$170.827 \$14.236 800 MG DOPAMINE HCL IN 5% DRUG DELIVERY DEX 00338100902 2B0846 Dopamine 18 \$13.740 \$247.326 ISOTONIC GENTAMICIN DRUG DELIVERY 00338050741 SULFATE IN 2B0851 \$2.267 \$54.412 24 ISOTONIC GENTAMICIN DRUG DELIVERY SULFATE IN 2B0852 00338050941 24 \$2,307 \$55.373 ISOTONIC GENTAMICIN DRUG DELIVERY 2B0853 00338051141 SULFATE IN 24 \$2,499 \$59.978 ISOTONIC GENTAMICIN DRUG DELIVERY SULFATE IN 2B0862 00338050348 \$57.734 24 \$2.406 ISOTONIC GENTAMICIN DRUG DELIVERY SULFATE IN 2B0863 00338050548 \$2.579 \$61.898 24 ISOTONIC GENTAMICIN DRUG DELIVERY SULFATE IN 2B0864 00338050748 24 \$2.772 \$66.522 **HEPARIN SODIUM 2000 UNITS** DRUG DELIVERY 2B0944 00338043304 & 0. \$58.558 12 \$4.880 HEPARIN SODIUM 1000 UNITS DRUG DELIVERY & 0. 2B0953 00338043103 \$57.095 18 \$3.172 LIDOCAINE HCL 5% DEX INJ. 2B0962 DRUG DELIVERY 00338041102 \$93.313 24 \$3.888 0.4% LIDOCAINE HCL & 5% Other DEX IN 2B0972 338040902 24 \$3.601 \$86.415 LIDOCAINE HCL 5% DEX INJ, DRUG DELIVERY 2B0973 00338040903 USP \$69,985 18 \$3.888 SOLUTIONS - FLUID 2.5% DEX AND 0.45% SOD THERAPY 2B1024X 00338007304 CHL INJ 14 \$2,424 \$33.936 SOLUTIONS - FLUID 5% DEX AND 0.9% SOD CHL THERAPY 00338008903 INJ, U \$40.301 2B1063Q 24 \$1.679 SOLUTIONS - FLUID 5% DEX AND 0.9% SOD CHL THERAPY 2B1064X 00338008904 ING. 14 \$1.814 \$25.399

Last times in Till	1	COV DEDVED COT AND A 1884			
THERAPY	00338008502	5% DEXTROSE AND 0.45% SOD, CHL	36	\$1.638	\$58.986
SOLUTIONS - FLUID THERAPY	00338008503	5% DEX AND 0.45% SOD CHL INJ,	24	\$1.665	\$39.967
SOLUTIONS - FLUID THERAPY	00338008504	5% DEX AND 0.45% SOD CHL INJ,	14	\$1.930	\$27.020
SOLUTIONS - FLUID THERAPY	00338008103	5% DEX AND 0.33% SOD CHL INJ	24	\$1.845	\$44.288
SOLUTIONS - FLUID THERAPY	00338007702	5% DEX AND 0.2% SOD CHL INJ, U	36	\$1.640	\$59.024
SOLUTIONS - FLUID THERAPY	00338007703	5% DEX AND 0.2% SOD CHL INJ U	24	\$1,813	\$43.516
SOLUTIONS - FLUID THERAPY	00338007704	5% DEX AND 0.2% SOD CHL INJ,	14	\$2.220	\$31.085
SOLUTIONS - FLUID THERAPY	00338068304	20 MEQ POT IN 5% DEX INJ- USP	14	\$3.697	\$51.759
DRUG DELIVERY	00338004910	0.9% SOD CHL INJ IN 25 ML MINI	48	\$1.679	\$80.584
DRUG DELIVERY	00338004911	0.9% NACL INJ USP 50ML MINI BA	96	\$1.451	\$139.344
DRUG DELIVERY	00338004918	0.9% NACL INJ USP, 100ML MINI-	96	\$1.451	\$139.344
DRUG DELIVERY	00338004941	0.9% NACL INJ USP 50 ML MINI-B	96	\$1.385	\$132.930
DRUG DELIVERY	00338004948	0.9% NACL INJ. USP 100 ML MINI	96	\$1.508	\$144.745
DRUG DELIVERY	00338004931	0.9% NACL INJ USP 50ML MINI BA	96	\$1.413	\$135.650
DRUG DELIVERY	00338004938	0.9% SOD CHL 100ML MINI- BAG VI	96	\$1.413	\$135.650
SOLUTIONS - FLUID THERAPY	00338004303	0.45% SODIUM CHLORIDE INJ USP	24	\$1.665	\$39.967
SOLUTIONS - FLUID THERAPY	00338004304	0.45% SODIUM CHL INJ, USP	14	\$2,036	\$28.505
DRUG DELIVERY	00338004901	0.9% SODIUM CHLORIDE INJ, USP	36	\$1.339	\$48.203
SOLUTIONS - FLUID THERAPY	00338004902	0.9% SOD CHL INJ, USP VIAFLEX	36	\$1.329	\$47.837
SOLUTIONS - FLUID THERAPY	00338004903	0.9% SOD CHL INJ, USP VIAFLEX	24	\$1.487	\$35.698
SOLUTIONS - FLUID THERAPY	00338004904	0.9% SOD CHL INJ, USP VIAFLEX	14	\$1.746	\$24.439
SOLUTIONS - FLUID THERAPY	00338005403	3% SODIUM CHLORIDE INJ, USP	24	\$2.410	\$57.841
SOLUTIONS - FLUID THERAPY	00338070434	20MEQ POTASSIUM CHLORIDE	14	\$2.749	\$38.482
SOLUTIONS - FLUID THERAPY	00338005603	5% SODIUM CHLORIDE, INJ USP	24		\$73.838
DRUG DELIVERY	00338034104	CARDIOPLEGIC SOLUTION FOR	14		\$490.169
SOLUTIONS - FLUID THERAPY	00338066303	20 MEQ POT CHL IN 5% DEX&0.2%			\$90.170
SOLUTIONS - FLUID THERAPY	00338066304	20MEQ POT CHL IN 5% DEX & 0.2%	14	\$3.701	\$51.819
	SOLUTIONS - FLUID THERAPY  DRUG DELIVERY  SOLUTIONS - FLUID THERAPY  SOLUTIONS - FLUID	THERAPY	SOLUTIONS - FLUID THERAPY	SOLUTIONS - FLUID THERAPY	SOLUTIONS - FLUID THERAPY

SOLUTIONS - FLUID 10 MEQ POT CHL IN 5% 2B1644X THERAPY 00338066904 DEX%0.45% 14 \$3,700 \$51.804 **SOLUTIONS - FLUID** 20 MEQ POT CHL IN 5% DEX 2B1653Q THERAPY 00338067103 0.45% \$3,460 \$83.046 24 20 MEQ POT CHL IN 5% DEX & **SOLUTIONS - FLUID** THERAPY 2B1654X 00338067104 0.4 14 \$2.140 \$29,960 **SOLUTIONS - FLUID** 30MEQ POT CHL IN 5%DEX & THERAPY 2B1664X 00338067304 0.45% 14 \$3.700 \$51.804 **SOLUTIONS - FLUID** 40 MEQ POT CHL IN 5% THERAPY 2B1674X 00338067504 DEX&0.45% 14 \$3.700 \$51.804 SOLUTIONS - FLUID 20 MEQ POT CHL IN .9% SOD THERAPY 2B1764X 00338069104 CHL \$3,700 \$51.804 14 SOLUTIONS - FLUID 40 MEQ POT CHL IN 0.9% SOD THERAPY 2B1984X CHL 00338069504 \$3.949 \$55.284 14 SOLUTIONS - FLUID LACTATED RINGER'S AND 5% THERAPY DEXTR 00338012503 2B2073Q 24 \$2.045 \$49.071 SOLUTIONS - FLUID LACTATED RINGERS & 5% THERAPY DEXTROSE 2B2074X 00338012504 14 \$1,934 \$27.080 SOLUTIONS - FLUID 5% DEXTROSE AND THERAPY **ELECTROLYTE NO** 2B2103Q 00338014303 24 \$2.833 \$68.000 SOLUTIONS - FLUID 20 MEQ POT CHL IN 2B2224X THERAPY 00338081104 **LACTATED** \$59.710 \$4.265 14 SOLUTIONS - FLUID THERAPY RINGER'S INJECTION, USP 2B2304X 00338010504 \$52.749 14 \$3.768 **SOLUTIONS - FLUID** THERAPY 2B2322Q 00338011702 LACTATED RINGER'S INJ, USP \$56.054 36 \$1.557 **SOLUTIONS - FLUID** LACTATED RINGER INJ, USP THERAPY 2B2323Q 00338011703 VIA \$37.755 24 \$1.573 **SOLUTIONS - FLUID** LACTATED RINGER THERAPY INJECTION, USP 2B2324X 00338011704 \$1.834 \$25.669 **SOLUTIONS - FLUID** 20MEQ POT CHL IN 5% THERAPY DEX&0.9% 2B2434X 00338080304 14 \$3.701 \$51.819 40 MEQ PJOT CHL IN 5% **SOLUTIONS - FLUID** THERAPY DE1X&0.9 2B2454X 00338080704 14 \$3.701 \$51.819 SOLUTIONS - FLUID PLASMA-LYTE 148 INJ (MULT) THERAPY ELE 2B2533Q 00338017903 24 \$2.947 \$70.727 SOLUTIONS - FLUID PLASMA-LYTE 148 INJ (MULT THERAPY 00338017904 2B2534X \$3.020 \$42.287 14 SOLUTIONS - FLUID PLASMA-LYTE A INJECTION THERAPY 2B2543Q 00338022103 PH 7.4 \$2.583 \$61.999 24 SOLUTIONS - FLUID PLASMA-LYTE A INJECTION THERAPY 2B2544X 00338022104 PH 7.4 \$39.807 14 \$2.843 PLASMA-LYTE 56 AND 5% Other 2B2573Q 338014703 DEXTROSE \$59.375 24 \$2.474 SOLUTIONS - FLUID PLASMA-LYTE 56 AND 5% THERAPY 2B2574X 00338014704 DEXTROSE 14 \$3.020 \$42.287 **METRONIDAZOLE** Other INJ,500MG/100ML 2B3421 00338105548 24 \$1.699 \$40.785 NUTRITION INTRALIPID 20% 250ML 2B6022 00338051902 Lipids 10 \$15.332 \$153.317 NUTRITION INTRALIPID 20% 500ML 2B6023 00338051903 Lipids 12 \$20.290 \$243.483 NUTRITION INTRALIPID 20% 1000ML 2B6024 Lipids 00338051904 \$38.465 \$230.787

2B6030	Lipids	NUTRITION	00338051948	INTRALIPID 20% 100ML	10	\$15.227	\$152,266
2B6053	Lipids	NUTRITION	08541207653	INTRALIPID 30% 500ML	12	\$26.440	\$317.277
2B6173		Other	00338050403	8% HEPATASOL SULFITE- FREE	24	\$77.826	\$1,867.819
2B6186	Amino Acids	NUTRITION	00338049906	20% PROSOL - SULFITE-FREE (AMI	6	\$93.070	\$558.417
2B6187	Amino Acids	NUTRITION	00338050203	15% CLINISOL SULFITE-FREE (AMI	24	\$58.149	\$1,395.566
2B6189	Amino Acids	NUTRITION	00338050206	15% CLINISOL SULFITE-FREE (AMI	6	\$64.856	\$389.135
2B7114X		SOLUTIONS - FLUID THERAPY	00338000344	STERILE WATER FOR IRRIG,USP	14	\$4.118	\$57.655
2B7116		SOLUTIONS - FLUID THERAPY	00338000344	STER WATER FOR IRRIG USP,2000	6	\$6.117	\$36.701
2B7117	-	SOLUTIONS - FLUID THERAPY	00338000347	STERILE WATER FOR IRRIG.USP.	4	\$8.550	\$34.202
2B7124X		SOLUTIONS - FLUID THERAPY	00338004744	0.9% SOD CHL IRRIG, USP 1000	14	\$4.118	\$57.655
2B7126		SOLUTIONS - FLUID THERAPY	00338004746	0.9% NACL IRRIG USP 2000 ML UR	6	\$6.315	\$37.890
2B7127		SOLUTIONS - FLUID THERAPY	00338004747	0.9% SOD.CHL.IRRIG. USP 3000ML	4	\$8.648	\$34.592
2B7207		SOLUTIONS - FLUID THERAPY	00338005047	0.9% SOD CHL PROCESSING SOL, 3	4	\$11.027	\$44.108
2B7231		SOLUTIONS - FLUID THERAPY	00338005144	0.9% SOD CHL IRRIGATION, USP I	6	\$66.151	\$396,904
2B7317		SOLUTIONS - FLUID THERAPY	00338028947	1.5% GLYCINE FOR IRRIG USP, 30	4	\$10.808	\$43.233
2B7357		SOLUTIONS - FLUID THERAPY	00338029547	3% SORBITOL IN WATER, 3000 ML	4	\$13.364	\$53.456
2B74 <b>77</b>		SOLUTIONS - FLUID THERAPY	00338004727	0.9% SOD CHL IRRIG, USP, 3000	4	\$8.564	\$34.257
2B7479		SOLUTIONS - FLUID THERAPY	00338004729	0.9% SOD CHL IRRIG, USP, 5000	2	\$15.066	\$30.132
2B7487		SOLUTIONS - FLUID THERAPY	0033801372 <b>7</b>	LACTATED RINGERS IRRIG, 3000 M	4	\$9.040	\$36.160
2B7489		SOLUTIONS - FLUID THERAPY	00338013729	LACTATED RINGERS IRRIG, 5000 M	2	\$15.695	\$31.390
2B7704		NUTRITION	00338108904	CLINIMIX 4.25/5 (4.25% AA IN 5	4	\$51.169	\$204.678
2B7705		NUTRITION	00338109104	CLINIMIX 4.25/10 (4.25% AA IN	4	\$51.641	\$206.564
2B7706		NUTRITION	00338109304	CLINIMIX 4.25/20 (4.25% AA IN	4	\$48.977	\$195.907
2B7707		NUTRITION	00338109504	CLINIMIX 4.25/25 (4.25% AA IN	4	\$56.978	\$227.910
2B7709		NUTRITION	00338109904	CLINIMIX 5/15 (5% AA IN 15% DE	4	<b>\$</b> 67.790	\$271.161
2B7710		NUTRITION	00338110104	CLINIMIX 5/20 (5% AA IN 20% DE	4	\$68.733	\$274,933
2B7711		NUTRITION	00338110304	CLINIMIX 5/25 (5% AA IN 25% DE	4	\$70.346	\$281.384

		CLIMINATE CONFIGURACION			
NUTRITION	00338110704	CLINIMIX E 2.75/5(2.75% AA W/L	4	\$42.275	\$169,100
NUTRITION	00338110904	CLINIMIX E 2.75/10 (2.75% AA W	4	\$42.275	\$169.100
NUTRITION	00338111304	CLINIMIX E 4.25/5(4.25% AA W/L	4	\$58.371	\$233.483
NUTRITION	00338111504	CLINIMIX E 4.25/10 (4.25% AA W	4	\$59.303	\$237.212
NUTRITION	00338111904	CLINIMIX E 4.25/25(4.25% AA W/	4	\$62.132	\$248.528
NUTRITION	00338112304	CLINIMIX E 5/15 (5% AA W/LYTES	4	\$70.094	\$280.377
NUTRITION	00338112504	CLINIMIX E 5/20 (5% AA W/LYTES	4	\$71.048	\$284.192
NUTRITION	00338112704	CLINIMIX E 5/25 (5% AA W/LYTES	4	\$71.980	\$287.921
NUTRITION	00338113203	CLINIMIX 2.75/5 SULFITE- FREE	6	\$29.108	\$174.649
NUTRITION	00338113303	CLINIMIX 4.25/5 SULFITE- FREE	6	\$29.716	\$178.295
NUTRITION	00338113403	CLINIMIX 4.25/10 SULFITE- FREE	6	\$29.298	\$175.787
NUTRITION	00338113503	CLINIMIX 4.25/20 SULFITE- FREE	6	\$31.684	\$190.106
NUTRITION	00338113603	CLINIMIX 4.25/25 SULFITE- FREE	6	\$27.937	\$167.620
NUTRITION	00338113703	CLINIMIX 5/15 SULFITE-FREE	6	\$33.820	\$202.920
NUTRITION	00338113803	CLINIMIX 5/20 SULFITE-FREE	6	\$34.687	\$208.122
NUTRITION	00338113903	CLINIMIX 5/25 SULFITE-FREE	6	\$35.164	\$210.983
NUTRITION	00338114203	CLINIMIX E 2.75/5 SULFITE- FREE	6	\$32.191	\$193,147
NUTRITION	00338114303	CLINIMIX E 2.75/10 SULFITE- FRE	6	\$32.491	\$194.948
NUTRITION	00338114403	CLINIMIX 4.25/5 SULFITE- FREE	6	\$32.481	\$194.883
NUTRITION	00338114503	CLINIMIX E 4.25/10 SULFITE- FRE	6	\$34.731	\$208.386
NUTRITION	00338114603	CLINIMIXE 4.25/25 SULFITE- FREE	6	\$35.631	\$213.787
NUTRITION	00338114703	CLINIMIX E 5/15 SULFITE- FREE	6	\$36.156	\$216.937
NUTRITION	00338114803	CLINIMIX E 5/20 SULFITE- FREE	6	\$36.446	\$218.673
NUTRITION	00338114903	CLINIMIX E 5/25 SULFITE- FREE	6	<b>\$</b> 36.799	\$220.795
DRUG DELIVERY	08541200346	INTRAVIA EMPTY CONTAINER (150	48	\$3.364	\$161.488
SOLUTIONS - FLUID THERAPY	08541200319	INTRAVIA EMPTY CONTAINER (250	48	\$4.405	\$211.459
SOLUTIONS - FLUID THERAPY	08541203526	INTRAVIA EMPTY CONTAINER (500	48	\$4.405	\$211.459
	NUTRITION  SOLUTIONS - FLUID  THERAPY  SOLUTIONS - FLUID	NUTRITION         00338110904           NUTRITION         00338111304           NUTRITION         00338111504           NUTRITION         00338111904           NUTRITION         00338112304           NUTRITION         00338112504           NUTRITION         00338112704           NUTRITION         00338113203           NUTRITION         00338113303           NUTRITION         00338113503           NUTRITION         00338113603           NUTRITION         00338113603           NUTRITION         00338113903           NUTRITION         00338114203           NUTRITION         00338114203           NUTRITION         00338114403           NUTRITION         00338114403           NUTRITION         00338114503           NUTRITION         00338114703           NUTRITION         00338114703           NUTRITION         00338114803           NUTRITION         00338114903           NUTRITION         00338114903           NUTRITION         00338114903           NUTRITION         00338114903	NUTRITION	NUTRITION	NUTRITION

US HUSPITAL PI	oducts Divisions					
2B8014	NUTRITION	08541200004	EMPTY INTRAVIA CONTAINER (1000	48	\$2.481	\$119.090
2B8019	DRUG DELIVERY	08541200350	INTRAVIA EMPTY CONT (50 ML) (G	48	\$5.615	\$269.506
2B8043	NUTRITION OTHER	08541200006	HAND SEALER TOOL	1	\$255.175	\$255.175
2B8044	NUTRITION OTHER	08541200007	LARGE HAND SEALER CLIPS	1000	\$0.041	\$40.721
2B8045	NUTRITION OTHER	08541200008	SMALL HAND SEALER CLIPS	1000	\$0.026	\$25.719
2B8066	SOLUTIONS - FLUID THERAPY	08541200325	VIAFLEX ADDITIVE CAP, BULK PAC	900	\$0.290	\$261.366
2B8071	DRUG DELIVERY	08541202738	VIAL-MATE RECONSTITUTION DEVIC	200	\$1.982	\$396.496
2B8082	NUTRITION	08541200009	VIAFLEX EMPTY CONTAINER (250 M	48	\$5.398	\$259.107
2B8083	NUTRITION	08541200010	VIAFLEX EMPTY CONTAINER (500 M	48	\$5.553	\$266.536
2B8084	NUTRITION	08541200012	VIAFLEX EMPTY CONTAINER (1000)	48	\$6.125	\$293.983
2B8086	NUTRITION	08541200013	VIAFLEX EMPTY CONTAINER (2000	24	\$7.145	\$171.490
2B8087	NUTRITION	08541200014	VIAFLEX EMPTY CONTAINER (3000)	24	\$9.147	\$219.523
2B8112	NUTRITION	08541200016	ALL-IN-ONE EMPTY CONT. W/CONN	48	\$7.220	\$346.553
2B8114	NUTRITION	08541204386	ALL-IN-ONE EMPTY CONT. (1000ML	20	\$9.585	\$191.702
2B8122	NUTRITION	08541200019	ALL-IN-ONE EMPTY CONTAINER WIT	24	\$7.721	\$185.299
2B8124	NUTRITION	08541204212	ALL-IN-ONE EMPTY CONT. (2000ML	15	\$12,149	\$182.233
2B8132	NUTRITION	08541200021	ALL-IN-ONE EMPTY CONTAINER W/C	24	\$10.587	\$254,088
2B8134	NUTRITION	08541204141	ALL-IN-ONE EMPTY CONT. (3000ML	15	\$14.331	\$214.965
2B8142	NUTRITION	08541202876	ALL-IN-ONE EMPTY CONTAINER W/C	24	\$16.585	\$398.045
2B8152	NUTRITION	08541200026	ALL-IN-ONE EMPTY CONT. W/CONN	48	\$6.851	\$328.860
2B8172	NUTRITION	08541200456	250ML EMPTY ALL IN ONE AUTOMIX	48	\$6.412	\$307.764
2B8609	Other	85412003271	LACTATED RINGERS - 5000 ML, VE	2	\$11.981	\$23.961
2B8619	Other	00338910049	PLASMA-LYTE A(AN ELECTROLYTE S	2	\$13.596	\$27.193
2C0090	NUTRITION	85412000331	MICROMIX COMPOUNDER FINAL BAG	24	\$6.890	\$165.371
2C0410	SOLUTIONS - FLUID THERAPY	08541200363	ADD-A-CAP CLOSURE FOR 28 MM I.	400	\$1,453	\$581.242
2C0415	ACCESS IV TUBING / COMPONENTS	08541200034	SOLUTION TRANSFER SET WITH NEE	48	\$1.541	\$73.949
2C0426	ACCESS IV TUBING / COMPONENTS	08541203493	SOL TRANSFER SET LARGE BORE	48	\$2.925	\$140.413
			dr			

2C0463	ACCESS IV TUBING / COMPONENTS	08541203469	SOLUTION TRANSFER SET LARGE BO	48	\$1.854	\$88.978
2C0477	NUTRITION	08541203428	AUTOMIX 3+3 COMPOUNDER TRANSFE	12	\$39.999	\$479.991
2C0480	NUTRITION	05412000461	TRANSFER SET FOR MICROMIX COMP	12	\$187.333	\$2,248.000
2C0487	NUTRITION	08541200048	AUTOMIX VENTED SPIKE ADAPTER	48	\$6.056	\$290.694
2C0488	NUTRITION	08541200049	AUTOMIX COMPOUNDER Y- ADAPTER S	48	\$16.666	\$799.968
2C1103	ACCESS IV TUBING / COMPONENTS	08541200050	1.2 MICRON EXTENSION SET	50	\$4.401	\$220.045
2C1145	ACCESS IV TUBING / COMPONENTS	08541207527	IV FAT EMULSION ADMINISTRATION	48	\$3.698	\$177.501
2C1146	ACCESS IV TUBING / COMPONENTS	08541207528	IV FAT EMULSION ADMINISTRATION	48	\$4.311	\$206.934
2C4004	ACCESS IV TUBING / COMPONENTS	08541200369	CATHETER ADAPTER, 3-WAY	48	\$4.166	\$199.989
2C4005	ACCESS IV TUBING / COMPONENTS	08541200097	Y-TYPE TUR IRRIGATION SET	12	\$10.350	\$124.196
2C4006	ACCESS IV TUBING / COMPONENTS	08541200098	UROMATIC TUR SERIES SET	12	\$4.480	\$53.765
2C4013	ACCESS IV TUBING / COMPONENTS	08541200099	4 LEAD TUR IRRIGATION SET	12	\$17.999	\$215.986
2C4014	ACCESS IV TUBING / COMPONENTS	08541200100	DECANTING SET	48	\$4,480	\$215.060
2C4020	ACCESS IV TUBING / COMPONENTS	08541200371	IRRIGATION CAP W/SYRINGE TIP	120	\$3.972	\$476.696
2C4030	ACCESS IV TUBING / COMPONENTS	08541200102	2 LEAD ARTHROSCOPIC IRRIGATION	12	\$10.769	\$129.224
2C4031	ACCESS IV TUBING / COMPONENTS	08541200103	4 LEAD ARTHROSCOPIC IRRIGATION	12	\$15.327	\$183.927
2C4040	ACCESS IV TUBING / COMPONENTS	08541200105	CYSTO/BLADDER IRRIGATION SET	48	\$4.906	\$235.480
2C4041	ACCESS IV TUBING / COMPONENTS	08541200106	Y-TYPE TUR-BLADDER IRRIGATION	12	\$10.350	\$124.196
2C4950	Other	01376500268	MINI-BAG PLUS DOCKING ASSIT	1	\$811,795	\$811.795
2C5417	Other	85412001185	BASIC SOLN SET INJ SITE 10 DPM	48	\$0.773	\$37.104
2C5430	Other	08541200124	VENTED BASIC SOLN INJ SITE 60	48	\$1.905	\$91.438
2C5602	ACCESS IV TUBING / COMPONENTS	85412003776	3-WAY STOPCOCK WITH EXT TBG LU	48	\$2.795	\$134.175
2C5603	ACCESS IV TUBING / COMPONENTS	85412001710	3-WAY STOPCOCK WITH EXT TBG LU	48	\$2.508	\$120.363
2C5604	ACCESS IV TUBING / COMPONENTS	08541200378	4-WAY STOPCOCK WITH EXT TBG LU	48	\$2.704	\$129.809
2C5641	ACCESS IV TUBING / COMPONENTS	08541200381	EXT SET 7 IN. L W/LUER LOCK	48	\$1.890	\$90.736
2C5643	ACCESS IV TUBING / COMPONENTS	08541200180	EXTENSION SET LUER LOCK ADAPTE	48	\$1.541	<b>\$</b> 73.967
2C5645	ACCESS IV TUBING / COMPONENTS	08541200181	EXTENSION SET LUER LOCK ADAPTE	48	\$0.945	\$45.368

2C5647	ACCESS IV TUBING /	08541203156	STERILE POUCH Y-TYPE EXTENSION	48	\$3,882	\$186.317
	ACCESS IV TUBING / COMPONENTS		PEDIATRIC EXTENSION SET 38 IN.			
2C5685 2C5687	ACCESS IV TUBING / COMPONENTS	08541200383 08541200384	PEDIATRIC EXTENSION SET 74 IN.	48	\$2.214	\$106,268
2C6201	ACCESS IV TUBING / COMPONENTS	85412001895	ELCAM THREE-WAY LARGE BORE POL	50	\$1,252	\$62.617
2C6202	Other	85412001901	ELCAM THREE-WAY LARGE BORE POL	50	\$1.320	\$65.993
2C6204	ACCESS IV TUBING / COMPONENTS	08541200191	ELCAM FOUR-WAY LARGE BORE POLY	50	\$1,262	\$63.123
2C6217	ACCESS IV TUBING / COMPONENTS	08541200385	2 4 WAY LRGE BORES W/ROTATING	50	\$3.196	\$159.791
2C6218	ACCESS IV TUBING / COMPONENTS	08541200386	THREE GANG LARGE BORE STOPCOCK	50	\$4.710	\$235.487
2C6226	ACCESS IV TUBING / COMPONENTS	08541200390	EXTENSION SET WITH LUER LOCK	50	\$0.721	\$36.034
2C6227	ACCESS IV TUBING / COMPONENTS	08541200391	EXTENSION SET WITH LUER LOCK A	50	\$0.821	\$41.055
2C6250	ACCESS IV TUBING / COMPONENTS	08541203631	DUAL LUER LOCK CAP, PACKAGED -	504	\$0.239	\$120.281
2C6251	ACCESS IV TUBING / COMPONENTS	08541202893	4 WAY LARGE BORE STOPCOCK W/EX	50	\$2.899	\$144.936
2C6254	ACCESS IV TUBING / COMPONENTS	08541204630	CLEARLINK SYSTEM CONTINU-FLO	48	\$10.270	\$492.977
2C6255	ACCESS IV TUBING / COMPONENTS	08541204631	CLEARLINK SYSTEM CONTINU-FLO	48	\$8.304	\$398.613
2C6256	ACCESS IV TUBING / COMPONENTS	08541207368	CLEARLINK MODULAR SOLN SET W/	48	\$10.927	\$524.507
2C6390	NUTRITION	85412004575	MICRO VENTED LUER SPIKE	48	\$6.665	\$319.940
2C6401	ACCESS IV TUBING / COMPONENTS	08541200211	INTERLINK SYSTEM BASIC SOLN	48	\$2.213	\$106.218
2C6402	ACCESS IV TUBING / COMPONENTS	08541200212	INTERLINK SOLN SET INJ. SITE L	48	\$2.261	\$108.550
2C6419	ACCESS IV TUBING / COMPONENTS	08541200394	INTERLINK VENTED BASIC SOLN SE	48	\$2.294	\$110.125
2C6424	ACCESS IV TUBING / COMPONENTS	08541200213	INTERLINK BASIC SET 90 IN.	48	\$2.809	\$134.856
2C6425	ACCESS IV TUBING / COMPONENTS	08541200214	INTERLINK BASIC SOLN SET 2 INJ	48	\$2.361	\$113.306
2C6511	ACCESS IV TUBING / COMPONENTS	08541200218	INTERLINK CONTINU-FLO 4- WAY ST	48	\$8.873	\$425.887
2C6519	ACCESS IV TUBING / COMPONENTS	08541200219	INTERLINK CONTINU-FLO SOLN SET	48	\$3.178	\$152,549
2C6537	ACCESS IV TUBING / COMPONENTS	08541200224	INTERLINK(TM)CONTINU-FLO SOLN	48	\$3.296	\$158.220
2C6541	ACCESS IV TUBING / COMPONENTS	08541200225	VENTED CONTINU-FLO SOLN SET 3	48	\$3.477	\$166.897
2C6546	ACCESS IV TUBING / COMPONENTS	08541200226	INTERLINK (TM) CONTINU FLO SOL	48	\$3.442	\$165.195
2C6571	ACCESS IV TUBING / COMPONENTS	08541200227	INTERLINK CONTINU-FLO SOLN SET	48	\$5.031	\$241.470

O3 HOSPILAL FIL	ducts Divisions					
2C6572	ACCESS IV TUBING / COMPONENTS	08541200228	INTERLINK CONTINU-FLO SOLN SET	48	\$5.422	\$260.268
2C6593	ACCESS IV TUBING / COMPONENTS	08541200229	INTERLINK CONTINU-FLO SOLUTION	48	\$4.696	\$225,431
2C6605	ACCESS IV TUBING / COMPONENTS	08541200233	INTERLINK EXTENSION SET W/ONE	48	\$3.558	\$170.772
2C6606	ACCESS IV TUBING / COMPONENTS	08541200395	INTERLINK EXTENSION SET 2 INJ	48	\$1.849	\$88.751
2C6607	ACCESS IV TUBING / COMPONENTS	08541200234	INTERLINK EXTENSION SET W/4 WA	48	\$3.751	\$180.031
2C6612	ACCESS IV TUBING / COMPONENTS	08541200396	INTERLINK EXTENSION SET 2 INJ	48	\$2.042	\$97.994
2C6631	ACCESS IV TUBING / COMPONENTS	08541200236	INTERLINK SYSTEM EXTENSION SET	48	\$2.095	\$100.546
2C6671	ACCESS IV TUBING / COMPONENTS	08541200399	INTERLINK EXT SET 2/.22 MICRON	48	\$2.743	\$131.680
2C6700	ACCESS IV TUBING / COMPONENTS	08541206815	IL STRAIGHT BLOOD SET/STANDARD	48	\$2.554	\$122.606
2C6714	ACCESS IV TUBING / COMPONENTS	08541200240	INTERLINK Y-TYPE BLOOD SOL SET	48	\$4.883	\$234.400
2C6720	ACCESS IV TUBING / COMPONENTS	08541200400	INTERLINK Y-TYPE BLOOD/SOLN SE	48	\$4.358	\$209.196
2C6723	ACCESS IV TUBING / COMPONENTS	08541204481	INTERLINK Y-TYPE BLOOD SOLN SE	48	\$6.691	\$321.147
2C6750H	ACCESS IV TUBING / COMPONENTS	08541207358	I/L Y-TYPE BLOOD SOLUTION SET	48	\$8.269	\$396.911
2C6764	ACCESS IV TUBING / COMPONENTS	85412081026	IL Y-TYPE MASS INFU BLOOD SET	12	\$19.750	\$236.998
2C6891	ACCESS IV TUBING / COMPONENTS	08541200242	INTERLINK EXTENSION SET W/CONT	48	\$5.508	\$264.381
2C6895	ACCESS IV TUBING / COMPONENTS	08541200403	INTERLINK CONTINU-FLO SOLN SET	48	\$7,122	\$341.846
2C6921	ACCESS IV TUBING / COMPONENTS	08541203545	INTERLINK EXT. W/3 PORT MANIFO	48	\$6.485	\$311.289
2C6931	ACCESS IV TUBING / COMPONENTS	08541203547	INTELRINK CNTINU-FLO 3 PORT MA	48	\$11.523	\$553.090
2C6941	ACCESS IV TUBING / COMPONENTS	08541202575	INTERLINK EXT. W/3 PORT MANIFO	48	\$6.858	\$329.199
2C6951	ACCESS IV TUBING / COMPONENTS	08541202579	INTERLINK CONTINU-FLO 3 PORT M	48	\$9.152	\$439.275
2C7451	ACCESS IV TUBING / COMPONENTS	08541200257	SECONDARY MED SET, INTERLINK L	48	\$1.504	\$72.191
2C7452	ACCESS IV TUBING / COMPONENTS	08541200258	INTERLINK VENTED SECONDARY MED	48	\$1.756	\$84.271
2C7461	ACCESS IV TUBING / COMPONENTS	08541204906	CL SEC MED SET 35 IN. W/LL &	48	\$1,179	\$56.596
2C7462	ACCESS IV TUBING / COMPONENTS	08541204847	CL SECONDARY MED SET. LUERLOCK	48	\$1.370	\$65.783
2C7519	ACCESS IV TUBING / COMPONENTS	08541202617	INTERLINK SYSTEM BURETROL SET	20	\$9.773	\$195.462
2C7551	ACCESS IV TUBING / COMPONENTS	08541205184	INTERLINK VENTED NITROGLYCERIN	48	\$6.694	\$321,309
2C7554	ACCESS IV TUBING / COMPONENTS	08541200411	BASIC SOLN SET FOR EPIDUAL ADM	48	\$3.685	\$176.878

ACCESS IV TUBING /		INTERLINK VENTED			
COMPONENTS	08541203637	PACLITAXEL SE	48	\$12.401	\$595.225
ACCESS IV TUBING / COMPONENTS	08541203638	INTERLINK PACLITAXEL SET		\$12.401	\$595.225
ACCESS IV TUBING / COMPONENTS	08541205070	INTERLINK BURETROL SOLN SET 15	48	\$4.994	\$239.693
Other	08541202736	INTERLINK SYSTEM PACLITAXEL SE	48	\$4,522	\$217.063
ACCESS IV TUBING / COMPONENTS	08541205069	INTERLINK BURETROL SOLN SET	12	\$6.498	\$77.979
ACCESS IV TUBING / COMPONENTS	08541200278	INTERLINK SYSTEM BURETROL SOLN	48	\$6.131	\$294.267
ACCESS IV TUBING / COMPONENTS	08541200279	INERLINK SYSTEM BURETROL ADD-O	48	\$4.094	\$196.491
ACCESS IV TUBING / COMPONENTS	08541200413	Y-TYPE BLOOD/SOLUTION SET STD	48	\$2.889	\$138.655
ACCESS IV TUBING / COMPONENTS	08541204893	BAXTER LAV SOLUTION ST Y 6 IN.	48	\$3.081	\$147.899
ACCESS IV TUBING / COMPONENTS	08541204894	SOLN SET, LUER ACTIVATED VALVE	48	\$3.224	\$154.761
ACCESS IV TUBING / COMPONENTS	08541204895	VENTED SOLN. SET LUER ACTIVATE	48	\$3.231	\$155.101
ACCESS IV TUBING / COMPONENTS	08541207119	CLEARLINK BASIC SOLUTION SET -	48	\$3.105	\$149.033
ACCESS IV TUBING / COMPONENTS	08541207369	CLEARLINK VENTED MINIDRIP SOL	48	\$3.870	\$185.781
ACCESS IV TUBING / COMPONENTS	08541205170	CONTINU-FLO SOLN SET W/1 CL Y	48	\$2.954	\$141.774
ACCESS IV TUBING / COMPONENTS	08541204899	CL CONTINU-FLO SOLN SET, 2 LAV	48	\$4.030	\$193.437
ACCESS IV TUBING / COMPONENTS	08541204897	CONTINU-FLO SOLN. SET, 3 LUER	48	\$4.428	\$212.548
ACCESS IV TUBING / COMPONENTS	08541207110	CLEARLINK DUO-VENT C-FLO SET	48	\$4.376	\$210,053
ACCESS IV TUBING / COMPONENTS	08541204898	CL CONTINU-FLO SOLN SET, 3	48	\$4.530	\$217.425
ACCESS IV TUBING / COMPONENTS	08541207111	CLEARLINK VENTED MINIDRIP	48	\$4.166	<b>\$</b> 199.958
ACCESS IV TUBING / COMPONENTS	08541204632	CLEARLINK SYSTEM CONTINU-FLO	48	\$5.809	\$278.842
ACCESS IV TUBING / COMPONENTS	08541207166	CLEARLINK C-FLO SET, 10DPM NV	48	\$6.728	\$322.962
ACCESS IV TUBING / COMPONENTS	08541204901	CL SYSTEM EXT SET 2 LUER ACT	48	\$3.368	\$161.679
ACCESS IV TUBING / COMPONENTS	08541207167	CLEARLINK EXT SET W/4 WAY	48	\$5,605	\$269.017
ACCESS IV TUBING / COMPONENTS	08541204896	CL SYSTEM EXT SET LUER ACT	48	\$3.028	\$145.347
ACCESS IV TUBING / COMPONENTS	08541207005	CLEARLINK EXTENSION SET, 2INJ	48	\$2.918	\$140.073
ACCESS IV TUBING / COMPONENTS	08541204900	CL SYSTEM EXT SET/LUER	48	\$2.971	\$142.625
		EXT. SET, LUER ACTIVATED			
	ACCESS IV TUBING / COMPONENTS  ACCESS IV TUBING / COMPONENTS  Other  ACCESS IV TUBING / COMPONENTS  ACCESS IV TUBING / COMPONENTS	ACCESS IV TUBING / COMPONENTS 08541203638  ACCESS IV TUBING / COMPONENTS 08541205070  Other 08541205070  Other 08541205070  ACCESS IV TUBING / COMPONENTS 08541200278  ACCESS IV TUBING / COMPONENTS 08541200279  ACCESS IV TUBING / COMPONENTS 08541200413  ACCESS IV TUBING / COMPONENTS 08541204893  ACCESS IV TUBING / COMPONENTS 08541204894  ACCESS IV TUBING / COMPONENTS 08541204895  ACCESS IV TUBING / COMPONENTS 08541207119  ACCESS IV TUBING / COMPONENTS 08541207369  ACCESS IV TUBING / COMPONENTS 08541207369  ACCESS IV TUBING / COMPONENTS 08541204899  ACCESS IV TUBING / COMPONENTS 08541207110  ACCESS IV TUBING / COMPONENTS 08541207110  ACCESS IV TUBING / COMPONENTS 08541207111  ACCESS IV TUBING / COMPONENTS 08541207110  ACCESS IV TUBING / COMPONENTS 08541207111  ACCESS IV TUBING / COMPONENTS 08541204898  ACCESS IV TUBING / COMPONENTS 08541207111  ACCESS IV TUBING / COMPONENTS 08541204632  ACCESS IV TUBING / COMPONENTS 08541207166  ACCESS IV TUBING / COMPONENTS 08541207167  ACCESS IV TUBING / COMPONENTS 08541207167  ACCESS IV TUBING / COMPONENTS 08541207167  ACCESS IV TUBING / COMPONENTS 08541207167	ACCESS IV TUBING / COMPONENTS	ACCESS IV TUBING	ACCESS IV TUBING / COMPONENTS

2C8671	ACCESS IV TUBING / COMPONENTS	08541204633	CLEARLINK SYSTEM EXT SET ,22	48	\$3.460	\$166.103
2C8700	ACCESS IV TUBING / COMPONENTS	08541207300	CL STRAIGHT CLD SET W/170/260	48	\$2.659	\$127.654
2C8720	ACCESS IV TUBING / COMPONENTS	08541204908	CLEARLINK SYSTEM Y-TYPE BLOOD/	48	\$4.875	\$233.989
2C8750	ACCESS IV TUBING / COMPONENTS	08541204634	CLEARLINK SYSTEM Y-TYPE BLOOD/	48	\$7.961	\$382.110
2C8751	ACCESS IV TUBING / COMPONENTS	08541207299	CL PUMP COMPATIBLE STRAIGHT	48	\$4.105	\$197.057
2C8819	ACCESS IV TUBING / COMPONENTS	08541204635	CL BURETROL W/BALL VALVE DRIP	20	\$10.476	\$209.522
2C8851	ACCESS IV TUBING / COMPONENTS	08541204636	CL VENTED NITRO SET W/DUO VENT	48	\$8.001	\$384.038
2C8857	ACCESS IV TUBING / COMPONENTS	08541204637	VENTED PACLITAXEL SET W/POLY	48	\$12.742	\$611.614
2C8858	ACCESS IV TUBING / COMPONENTS	08541207168	CLEARLINK PACLITAXEL SET	48	\$14,390	\$690.724
2C8860	ACCESS IV TUBING / COMPONENTS	08541207169	CLEARLINK BURETROL SOLUTION	48	\$9.473	\$454.706
2C8862	ACCESS IV TUBING / COMPONENTS	08541207335	CLEARLINK BURETROL SOLN SET	48	\$9.549	\$458.358
2C8864	ACCESS IV TUBING / COMPONENTS	08541207112	CLEARLINK BURETROL SOLUTION	48	\$9.441	\$453.163
2C8865	ACCESS IV TUBING / COMPONENTS	08541204911	CLEARLINK SYSTEM BURETROL ADD-	48	\$4.804	\$230.594
2C8875	ACCESS IV TUBING / COMPONENTS	08541204638	CL POLYETHYLENE LINED SOLUTION	48	\$8.449	\$405.531
2C8891	ACCESS IV TUBING / COMPONENTS	08541204639	CLEARLINK SYSTEM EXTESION SET	48	\$5.734	\$275,212
2C8895	ACCESS IV TUBING / COMPONENTS	08541206930	CL CONTINU-FLO SOLN SET W/	48	\$7.590	\$364.303
2C8921	ACCESS IV TUBING / COMPONENTS	08541207171	CLEARLINK EXT SET WITH 3 PORT	48	\$8.835	\$424.075
2C8930	ACCESS IV TUBING / COMPONENTS	08541207115	CLEARLINK CONTINU-FLO W/2 PORT	48	\$11.148	\$535.113
2C8931	ACCESS IV TUBING / COMPONENTS	08541207172	CLEARLINK CONTINU-FLO 3 PORT	48	\$12.308	\$590.802
2C9201	ACCESS IV TUBING / COMPONENTS	08541200417	MICROBORE EXTENSION SET	60	\$1.706	\$102.361
2C9203	ACCESS IV TUBING / COMPONENTS	08541200419	MICROBORE EXTENSION SET	60	\$1.676	\$100.589
2C9215	ACCESS IV TUBING / COMPONENTS	08541207106	ANTI-SIPHON ANESTHESIA SET-	60	\$4.662	\$279.691
2C9216	ACCESS IV TUBING / COMPONENTS	08541200423	ANESTHESIA SET (6466070)	60	\$2.668	\$160.099
2C9218	ACCESS IV TUBING / COMPONENTS	08541200425	UNIVERSAL ANESTHESIA SET (6466	60	\$2,668	\$160.099
2C9219	ACCESS IV TUBING / COMPONENTS	08541200297	EXTENSION SET	60	\$1.796	\$107.748
2C9221	ACCESS IV TUBING / COMPONENTS	08541200299	EXTENSION SET HIGH FLOW	60	\$1.831	\$109.875
2C9282	ACCESS IV TUBING / COMPONENTS	08541203686	3 PORT ANESTHESIA MANIFOLD	48	\$4.373	\$209.883

2C9292	ACCESS IV TUBING / COMPONENTS	08541200435	ANESTHESIA INTERLINK LEVER LOC	200	\$2.521	\$504.244
2C9293	NUTRITION	08541202966	AUTOMIX 3+3/AS COMPOUNDER TRAN	12	\$44.573	\$534.872
2D5604X	SOLUTIONS - FLUID THERAPY	00338035104	5% OSMITROL INJ (5% MANNITOL	14	\$18.646	\$261.045
2D5613Q	SOLUTIONS - FLUID THERAPY	00338035303	10% OSMITROL INJ (10% MANNITOL	24	\$18.490	\$443.750
2D5623Q	SOLUTIONS - FLUID THERAPY	00338035503	15% OSMITROL INJ (15% MANNITOL	24	\$22.064	\$529.548
2D5632Q	SOLUTIONS - FLUID THERAPY	00338035702	20% OSMITROL INJ (20% MANNITOL	36	\$21.602	\$777.656
2D5633Q	SOLUTIONS - FLUID THERAPY	00338035703	20% OSMITROL INJ (20% MANNITOL	24	\$24.727	\$593.459
2F7112	SOLUTIONS - FLUID THERAPY	00338000402	STERILE WATER FOR IRRIGATION,	24	\$2,486	\$59.667
2F7113	SOLUTIONS - FLUID THERAPY	00338000403	STERILE WATER FOR IRRIGATION	18	\$2.394	\$43.092
2F7114	SOLUTIONS - FLUID THERAPY	00338000404	STERILE WATER FOR IRRIGATION,	12	\$2.418	\$29.011
2F7115	SOLUTIONS - FLUID THERAPY	00338000405	STERILE WATER FOR IRRIGATION,	9	\$4.534	\$40.806
2F7121	Other	08541208383	STERILE SALINE FOR CATHETER CA	24	\$3.001	\$72.012
2F7122	SOLUTIONS - FLUID THERAPY	00338004802	0.9% SODIUM CHL IRRIGATION,	24	\$2.415	\$57.970
2F7123	SOLUTIONS - FLUID THERAPY	00338004803	0.9% SODIUM CHL IRRIGATION,	18	\$2.418	\$43.516
2F7124	SOLUTIONS - FLUID THERAPY	00338004804	0.9% SODIUM CHL IRRIGATION,	12	\$2.615	\$31.377
2F7125	SOLUTIONS - FLUID THERAPY	00338004805	0.9% SODIUM CHLORIDE IRRIGATIO	9	\$4.615	\$41.539
2F7144	SOLUTIONS - FLUID THERAPY	00338019004	TIS-U-SOL SOLUTION	12	\$4,431	\$53.173
2F7154	SOLUTIONS - FLUID THERAPY	00338011404	LACTATED RINGERS IRRIGATION	12	\$4.688	\$56.260
2F7164	SOLUTIONS - FLUID THERAPY	00338010404	RINGER'S IRRIGATION, USP	12	\$4.629	\$55.552
2F7184	SOLUTIONS - FLUID THERAPY	00338065604	0.25% ACETIC ACID IRRIGATION,	12	\$4.599	\$55.192
2G3424	DRUG DELIVERY	00338519741	FAMOTIDINE INJECTION IN GALAXY	48	\$3.815	\$183.117
2G3503	DRUG DELIVERY	00338350341	1G CEFAZOLIN INJ, ISO- OSMOTIC	24	\$2.900	<b>\$</b> 69.592
2G3504	DRUG DELIVERY	00338500241	IG CEFTRIAXONE SOD INJ, 50ML	24	\$7.426	\$178.214
2G3505	DRUG DELIVERY	00338500341	2G CEFTRIAXONE SOD INJ, 50ML	24	\$14.384	\$345.227
2G3518	DRUG DELIVERY	00039003705	1G CLAFORAN (CEFOTAXIME , SOD IN	24	\$6.850	\$164.398
2G3519	DRUG DELIVERY	00039003805	2G CLAFORAN (CEFOTAXIME SOD IN	24	\$10.884	\$261.221
2G3538	DRUG DELIVERY	00338101341	IG BACTOCILL(OXACILLIN SOD INJ	24	\$9.446	\$226.699

O3 HO3pital Fit	Dadets Divisions					
2G3539	DRUG DELIVERY	00338101541	2G BACTOCILL(OXACILLIN SOD INJ	24	\$15.287	\$366.892
2G3540	DRUG DELIVERY	00338101741	IG NALLPEN(NAFCILLIN SOD INJ)I	24	\$8.742	\$209.806
2G3542	DRUG DELIVERY	00338102141	IMU PENICILLIN G POTASSIUM INJ	24	\$7.722	\$185.326
2G3543	DRUG DELIVERY	00338102341	2MU PENICILLIN G POTASSIUM INJ	24	\$8.111	\$194.655
2G3544	DRUG DELIVERY	00338102541	3MU PENICILLIN G POTASSIUM INJ	24	\$8.520	\$204.489
2G3551	DRUG DELIVERY	00338355148	VANCOMYCIN INJECTION,USP 500MG	12	\$5.432	\$65.179
2G3552	DRUG DELIVERY	00338355248	VANCOMYCIN INJECT, USP 1000MG/	6	\$7.354	\$44.125
2G3556	DRUG DELIVERY	00338101948	2G IN 100ML NAFCILLIN SODIUM I	12	\$9.131	\$109.568
2G3578	DRUG DELIVERY	00338130141	CEFEPIME INJECTION 1G /50ML	24	\$7.354	\$176.501
2G3579	DRUG DELIVERY	00338130148	CEFEPIME INJECTION 2 G /100 ML	12	\$11.819	\$141.831
2G3580	DRUG DELIVERY	00338358048	VANCOMYCIN INJECTION, USP	6	\$6.713	\$40.280
2H5660	ACCESS IV TUBING / COMPONENTS	08541206532	NON-DEHP 0.22 MICRON EXTENSION	48	\$3.131	\$150.281
2H6401	ACCESS IV TUBING / COMPONENTS	08541206819	IL NON-DEHP SOLN SET W/1 Y	48	\$2.266	\$108.769
2H6480	ACCESS IV TUBING / COMPONENTS	08541204851	IL NON-DEHP SOL SET 10 DPM .22	48	\$6.565	\$315.136
2H6490	ACCESS IV TUBING / COMPONENTS	08541204575	NON-DEHP INTERLINK SOLUTION	48	\$3.799	\$182.361
2H6519	ACCESS IV TUBING / COMPONENTS	08541200052	NON-DEHP INTERLINK CONTINU-FLO	48	\$3.762	\$180,564
2H6537	ACCESS IV TUBING / COMPONENTS	08541207313	NON-DEHP IL CONTINU-FLO SOLN	48	\$3.794	\$182.088
2H7451	ACCESS IV TUBING / COMPONENTS	08541200054	NON-DEHP INTERLINK SECONDARY	48	\$1.829	\$87.787
2H7452	ACCESS IV TUBING / COMPONENTS	08541206866	NON-DEHP SEC MED SET W/DUO-VEN	48	\$2.234	\$107.208
2H7462	ACCESS IV TUBING / COMPONENTS	08541204854	CL NON-DEHP SEC. MED SET LUER	48	\$1.645	\$78.940
2H7463	ACCESS IV TUBING / COMPONENTS	08541204910	CL NON-DEHP SEC MED SET 60DPM	48	\$1.932	\$92.720
2H7519	ACCESS IV TUBING / COMPONENTS	08541207301	NON-DEHP IL BURETROL (BALL	20	\$9.981	\$199.612
2H7562	ACCESS IV TUBING / COMPONENTS	08541207529	IL SYSTEM NON DEHP BURETROL	48	\$7,431	\$356.667
2H7565	ACCESS IV TUBING / COMPONENTS	08541206820	NON-DEHP BURETROL ADD- ON SET	48	\$4.553	\$218.562
2H8401	ACCESS IV TUBING / COMPONENTS	08541204909	CL NON-DEHP SOLUTION SET 10DPM	48	\$3.397	\$163.040
2H8454	Other	08541209012	CLEARLINK NDEHP SLOUTION SET	48	\$4.385	\$210.464
2H8480	ACCESS IV TUBING / COMPONENTS	08541204849	CL NON-DEHP SOL SET 10 DPM .22	48	\$6.461	\$310.145

2H8486	ACCESS IV TUBING / COMPONENTS	08541207476	CL NON-DEHP SOLUTION SET W/1.2	48	\$4.511	\$216.551
2H8490	ACCESS IV TUBING / COMPONENTS	08541206838	NON-DEHP CL EC MED SET 37"	48	\$0.997	\$47.873
2H8519	ACCESS IV TUBING / COMPONENTS	08541204845	CLEARLINK SYSTEM NON- DEHP	48	\$4.694	\$225.308
2H8537	ACCESS IV TUBING / COMPONENTS	08541208090	CL NON-DEHP CONTINU-FLO SET	48	\$5.436	\$260.942
2H8603	ACCESS IV TUBING / COMPONENTS	08541204643	CLEARLINK 1.2 MICRON EXTENSION	48	\$4.960	\$238.067
2H8631	ACCESS IV TUBING / COMPONENTS	08541208094	CL NON-DEHP EXT SET 43",2 CL	48	\$3.758	\$180.360
2H8671	ACCESS IV TUBING / COMPONENTS	08541208095	CL NON-DEHP FILTER EXT SET	48	\$4.088	\$196.216
2H8720	ACCESS IV TUBING / COMPONENTS	8541207485	CL NON-DEHP Y-TYPE BLOOD/SOL'N	48	\$5,277	\$253.284
2H8819	ACCESS IV TUBING / COMPONENTS	08541207353	NON-DEHP CL BURETROL (BALL VAL	20	\$11.048	\$220.966
2H8862	ACCESS IV TUBING / COMPONENTS	08541207116	CLEARLINK NON-DEHP BURETROL	48	\$8.295	\$398.147
2H8864	ACCESS IV TUBING / COMPONENTS	08541207174	CLEARLINK NON-DEHP BURETROL	48	\$11.270	\$540.975
2H8865	ACCESS IV TUBING / COMPONENTS	08541207118	CLEARLINK NON-DEHP BURETROL	48	\$6.527	\$313.287
2J0900	DRUG DELIVERY	00338601048	MILRINONE LACTATE 20MG/100ML	10	\$16.552	\$165.518
2J0901	DRUG DELIVERY	00338601137	MILRINONE LACTATE 40MG/200ML	10	\$34.362	\$343.616
2J1421	Other	00338176241	ONDANSETRON INJECT 32MG/50ML	10	\$7.971	\$79.709
2J1445	Other	00338604537	FLUCONAZOLE 400 MG/200 ML	10	\$6.125	\$61.251
2J1446	Other	00338604648	FLUCONAZOLE 200 MG/100 ML	10	\$5.540	\$55.397
2J8002	SOLUTIONS - FLUID THERAPY	08541202957	NON-DEHP FLUID PATH INTRAVIA	48	\$4.795	\$230.182
2J8003	SOLUTIONS - FLUID THERAPY	08541202956	NON-DEHP FLUID PATH INTRAVIA	48	\$4.795	\$230.182
2L3202	Other	08541202188	6464545 CARTRIDGE, MULI- MODE	1	\$259.992	\$259.992
2L3221	Other	85412018497	500ML BAG COVER	1	\$171.645	\$171.645
2L3225	Other	85412022000	6461610 SMART LABEL GENERAL, M	1	\$99.272	\$99.272
2L3230	Other	85412022079	6461544 SMART LABEL, DOPAMINE	ŧ	\$85.294	\$85.294
2L3235	Other	85412022130	6461550 SMART LABEL, SUFENTANI	1	\$80.009	\$80,009
2L3242	Other	85412022208	6461558 SMART LABEL PROPOFOL	1	\$92.006	\$92.006
2L3243	Other	85412022215	6461559 SMART LABEL FENTANYL	1	\$92.006	\$92.006
21.3249	Other	85412022277	6461607 SMART LABEL SUFENTANIL	1	\$85.294	\$85.294

OS HOSPital I I	badets bivisions					
2L3256	Other	08541201850	2L3256, RESERVOIR, DRUG 100 ML	10	\$7.928	\$79.275
2L3257	Other	08541201851	2L3257, RESERVOIR, DRUG 250 ML	10	\$8.671	\$86.707
2L3259	Other	85412022369	SMART LABEL, PROPOFOL, PEDIATR	1	\$82.490	\$82.490
2L3260	Other	85412039874	CISATRACURIUM SMART LABEL	1	\$80.009	\$80.009
2L3268	Other	85412022376	REMIFENTANIL(ULTIVA)SMA RTLABEL	1	\$85.294	\$85.294
2L3269	Other	85412022383	SMART LABEL REMIFENTANIL	ī	\$90.148	\$90.148
2L3504	Other	08541203991	MALE LUER LOCK EPIDURAL PUMP S	20	\$9.309	\$186.173
2L3506	Other	08541201317	ANTI-REFLEC Y-SET 8 IN.	50	\$5.352	\$267.599
2L3508	Other	08541201319	ANTI-SIPHON PCA EXTENSION SET	50	\$3.914	\$195.708
2L3509	Other	08541201320	COMBINATION SET 102 IN., ANTI-	50	\$5.683	\$284.139
2L3510	Other	08541201321	SET, 73 IN., ANTI-SIPHON PUMP	20	\$8.316	\$166.314
2L3511	Other	08541201322	SET, 102 IN., ANTI-SIPHON	20	\$8.671	\$173.414
2L3512	Other	03056800306	AMBULATORY SPIKE SET	20	\$12.388	\$247.751
2L3513	Other	03056800307	AIR ELIMINATING SPIKE SET	20	\$14.802	\$296.048
2L3520	Other	08541203641	TUBING SET,AIR ELIMINATING CE	20	\$14.188	\$283.763
2L3522	Other	03056800309	EPIDURAL SPIKE PUMP SET FOR 50	20	\$12.388	\$247.751
2L3523	Other	03056800310	TBG SET AIR ELIM. FOR 500 ML	20	\$14.802	\$296,048
2L3525	Other	08541204578	AIR ELIMINATING ANTI- SIPHON	20	\$16,481	\$329.628
2L3526	Other	08541204577	AIR ELIMINATING ANTI- SIPHON	20	\$15.442	\$308.839
2L3527	Other	08541207070	ANTI-SIPHON, AIR ELIMINATING	20	\$19.964	\$399.284
2L5100	Other	00338917091	PURE POWDERED GLUTAMINE - 480	12	\$57.604	\$691.242
2L5108	Other	00338917891	RAPID RELEASE PLAIN GLUTAMINE	60	\$1.473	\$88.371
2M8074	NUTRITION HARDWARE	08541200053	5-INCH LABELS FOR USE WITH AUT	3000	\$0.082	\$244.561
2N1191	ACCESS IV TUBING / COMPONENTS	08541200453	Y-TYPE CATHETER EXTENSION SET/	50	\$2.011	\$100.548
2N1194	ACCESS IV TUBING / COMPONENTS	08541206455	I.V. CATHETER EXT SET/LUER LOC	50	\$0.833	\$41.646
2N1196	ACCESS IV TUBING / COMPONENTS	08541206487	Y-TYPE CATH EXT SET/MALE LUER	50	\$2.612	\$130.610
2N1206	ACCESS IV TUBING / COMPONENTS	08541200461	I.V. CATHETER EXT SET/MALE LUE	50	\$2.485	\$124.230
						-

2N1333	Other	08541247539	PRESSURE INJ STD BORE EXT SET	200	\$2.040	\$407.991
2N3326	ACCESS IV TUBING / COMPONENTS	08541200464	INTERLINK T-CON EXT SET/MICRO-	200	\$2.733	\$546.522
2N3327	ACCESS IV TUBING / COMPONENTS	08541200465	INTERLINK T-CON EXT SET/MACRO-	200	\$2.760	\$551.974
2N3328	ACCESS IV TUBING / COMPONENTS	08541200466	INTERLINK T-CON EXT SET/MICRO-	200	\$1.993	\$398.622
2N3331	ACCESS IV TUBING / COMPONENTS	08541200469	DUAL LINE T-CONN EXT SET W/MLL	200	\$3.118	\$623.678
2N3333	ACCESS IV TUBING / COMPONENTS	08541200471	T-CONN EXT SET WITH 0.22 MICRO	200	\$3.238	\$647.590
2N3339	ACCESS IV TUBING / COMPONENTS	08541200474	INTERLINK RETRACTABLE T- CONN E	200	\$2.476	\$495.202
2N3340	ACCESS IV TUBING / COMPONENTS	08541200475	INTERLINK RETRACTABLE T- CONN E	200	\$3.197	\$639,402
2N3341	ACCESS IV TUBING / COMPONENTS	08541200476	3 LEAD EXTENSION SET W/INTERLI	200	\$2.876	\$575,223
2N3342	ACCESS IV TUBING / COMPONENTS	08541200477	3 LEAD EXTENSION SET W/0.22 MI	50	\$4.792	\$239.599
2N3343	ACCESS IV TUBING / COMPONENTS	08541200478	MALE LUER LOCK ADAPTER WITH RE	200	\$3.547	\$709.407
2N3345	ACCESS IV TUBING / COMPONENTS	08541200479	36 IN. MICRO VOLUME EXTENSION	50	\$1.256	\$62.794
2N3346	ACCESS IV TUBING / COMPONENTS	08541200480	36" HIGH FLOW RATE EXT SET	50	\$1.685	\$84.254
2N3347	ACCESS IV TUBING / COMPONENTS	08541200481	36 IN. MICRO VOLUME EXT. SET	50	\$3.614	\$180.703
2N3348	ACCESS IV TUBING / COMPONENTS	08541200482	60 IN. MICRO VOLUME EXT ST	50	\$1.246	\$62.322
2N3349	ACCESS IV TUBING / COMPONENTS	08541200483	60 IN. HIGH FLOW RATE	50	\$1.243	\$62,144
2N3350	ACCESS IV TUBING / COMPONENTS	08541200484	60 IN. MICRO VOLUME EXT. ST	50	\$3.778	\$188.914
2N3371	ACCESS IV TUBING / COMPONENTS	08541200487	Y TYPE MICRO EXT SET	200	\$3.531	\$706.272
2N3373	ACCESS IV TUBING / COMPONENTS	08541200489	INTERLINK IV CONN/MALE LUER LO	200	\$2,437	\$487.467
2N3374	ACCESS IV TUBING / COMPONENTS	08541200490	INTERLINK I.V. CATHETER EXT SE	200	\$2,662	\$532.362
2N3375	ACCESS IV TUBING / COMPONENTS	08541200491	INTERLINK IV CATH EXT SET/MALE	200	\$2,665	\$533.071
2N3376	ACCESS IV TUBING / COMPONENTS	08541200492	INTERLINK Y-TYPE CATH EXT SET/	200	\$3,856	\$771.252
2N3378	ACCESS IV TUBING / COMPONENTS	08541200493	INTERLINK I.V. CATHETER EXTENS	200	\$3.017	\$603.486
2N3379	ACCESS IV TUBING / COMPONENTS	08541200494	INTERLINK TM INJECTION SITE	800	\$1.320	\$1,055.746
	ACCESS IV TUBING / COMPONENTS	08541207977	NON-DEHP MICROBORE CATH EST	200	\$3.249	\$649.854
2N3384	COMPONENTS					
2N3384 2N3395	ACCESS IV TUBING / COMPONENTS	08541200497	MULTIDSE VIALADAPTOR 2X120/CT	240	\$1.654	\$396.968

	Transports			г		т
2N3410	ACCESS IV TUBING / COMPONENTS	08541203643	MICRO-INFUSION MANIFOLD	50	\$5.690	\$284.513
2N3411	ACCESS IV TUBING / COMPONENTS	85412036446	MICRO-INFUSION MANIFOLD W/4-WA	50	\$5.393	\$269.636
2N3413	ACCESS IV TUBING / COMPONENTS	85412036460	MICRO-INFUSION MANIFOLD WITH E	50	\$5.127	\$256.357
2N3414	ACCESS IV TUBING / COMPONENTS	08541203647	MICRO-INFUSION MANIFOLD WITH E	50	\$8.371	\$418.545
2N5605	ACCESS IV TUBING / COMPONENTS	85412080982	IL NOVEX 3WAY STOPCOCK EXT SET	50	\$3.379	\$168.972
2N5606	ACCESS IV TUBING / COMPONENTS	08541208099	IL NOVEX 3WAY STOPCOCK EXT SET	50	\$3.943	\$197.125
2N8100	ACCESS IV TUBING / COMPONENTS	08541208901	VITALHOLD SMALL HYDROCLLD KIT	50	\$3.611	\$180.567
2N8200	ACCESS IV TUBING / COMPONENTS	08541208902	VITALHOLD MEDIUM STANDARD KIT	50	\$3.548	\$177.395
2N8220	ACCESS IV TUBING / COMPONENTS	08541208939	VITALHOLD STD BORE EXTSET W/CL	50	\$5.052	\$252.619
2N8221	ACCESS IV TUBING / COMPONENTS	08541208940	VITALHOLD STD BORE EXTSET W/IL	50	\$4.994	\$249.703
2N8222	ACCESS IV TUBING / COMPONENTS	08541208941	VITALHOLD MICROBO EXT SET W/CL	50	\$4.948	\$247.385
2N8223	ACCESS IV TUBING / COMPONENTS	08541208942	VITALHOLD MICROBO EXT SET W/IL	50	\$4,626	\$231.279
2N8224	ACCESS IV TUBING / COMPONENTS	08541208943	VITALHOLD STND Y-EXT SET W/CL	50	\$7,669	\$383.468
2N8225	ACCESS IV TUBING / COMPONENTS	08541208945	GRIP-LOK MICR Y-EXT SET W/2IL	50	\$9.882	\$494,093
2N8227	ACCESS IV TUBING / COMPONENTS	08541208944	VITALHOLD MICRO Y-EXT ST W/2IL	50	\$8.755	\$437.740
2N8300	ACCESS IV TUBING / COMPONENTS	85412046407	CL SYS. NDL LOCK DEV PROTECTIV	200	\$2.636	\$527.233
2N8334	ACCESS IV TUBING / COMPONENTS	08541204850	CL 3-PORT ADAPTER	200	\$4.676	\$935.238
2N8341	ACCESS IV TUBING / COMPONENTS	08541207165	MICROBORE CLEARLINK 3 LEAD	200	\$3.206	\$641.216
2N8371	ACCESS IV TUBING / COMPONENTS	08541204892	CLEARLNK SYSTEM Y-TYPE CATH SE	200	\$3.921	\$784.248
2N8373	ACCESS IV TUBING / COMPONENTS	08541207109	CLEARLINK NON-DEHP I.V CONN/	200	\$3.367	\$673.428
2N8374	ACCESS IV TUBING / COMPONENTS	08541204890	CL SYSTEM CATHETER EXT SET/LUE	50	\$2,771	\$138.525
2N8377	ACCESS IV TUBING / COMPONENTS	08541205131	CL SYSTEM Y-TYPE CATH. EXT	50	\$3.899	\$194.940
2N8378	ACCESS IV TUBING / COMPONENTS	08541204891	CL CATHETER EXT SET/LUER ACT.	50	\$2,896	\$144,787
2N8395	ACCESS IV TUBING / COMPONENTS	08541204641	CLEARLINK UNIVERSAL VIAL	200	\$1.854	\$370.740
2N8399	ACCESS IV TUBING / COMPONENTS	08541204889	LUER ACTIVATED VALVE FOR IV	200	\$1.508	\$301.507
2N9106	ACCESS IV TUBING / COMPONENTS	08541203513	CHEMO PIN W/FEMALE LUER	50	\$2.593	\$129.664
3C0006	ACCESS IV TUBING / COMPONENTS	85412017469	EXTENSION SET WITH STOPCOCK	48	\$3.783	\$181.574
	The second secon		Ji			

3C0019	ACCESS IV TUBING / COMPONENTS	08541201752	INTERLINK SYSTEM CONTINU FLO	48	\$7.156	\$343.499
3C0021	ACCESS IV TUBING / COMPONENTS	85412017537	CONTINU-FLO (R) SET, 10	48	\$6.815	\$327.142
3C0042	ACCESS IV TUBING / COMPONENTS	85412017612	CONTINU-FLO (R) SET	48	\$9,055	\$434.646
3C0062	ACCESS IV TUBING / COMPONENTS	08541201771	CONTINU-FLO (R) SET, 10	48	\$6.571	\$315.399
3C0065	ACCESS IV TUBING / COMPONENTS	08541201774	CONTINU-FLO (R) SET, 10	48	\$7.233	\$347.202
3C0071	ACCESS IV TUBING / COMPONENTS	08541201778	EXTENSION SET	48	\$11.412	\$547,761
3C0073	ACCESS IV TUBING / COMPONENTS	08541201780	SOLUTION SET, 10	48	\$6,012	\$288.564
3C0077	ACCESS IV TUBING / COMPONENTS	85412017827	STOPCOCK WITH EXTENSION SET 5.	48	\$4.801	\$230,439
3C0085	ACCESS IV TUBING / COMPONENTS	85412041570	INTERLIN (R) SYSTEM STOPCOCKS	48	\$9.214	\$442.252
3C0091	ACCESS IV TUBING / COMPONENTS	08541201785	INTERLINK (R) SYSTEM CONTINU-F	48	\$5.583	\$267.989
3C0105	ACCESS IV TUBING / COMPONENTS	08541203275	CONTINU-FLO (R) SOLUTION SET	48	\$7.219	\$346.534
3C0113	ACCESS IV TUBING / COMPONENTS	85412032806	MANIFOLD EXTENSION SET	48	\$8.118	\$389.667
3C0114	ACCESS IV TUBING / COMPONENTS	85412028724	CONTINU-FLO SOLUTION SET	48	\$9.891	\$474.767
3C0115	Other	85412032813	CONTINU-FLO SOLUTION SET	48	\$8.331	\$399.884
3C0120	ACCESS IV TUBING / COMPONENTS	85412032820	CONTINU-FLO SOLUTION SET	48	\$8.744	\$419.729
3C0128	ACCESS IV TUBING / COMPONENTS	08541204027	IL BURETROL SOLUTION SET W/4-W	12	\$21.468	\$257.611
3C0134	ACCESS IV TUBING / COMPONENTS	08541204539	CLEARLINK SYSTEM CONTINU-FLO	48	\$12.259	\$588.444
3C0137	Other	08541204968	SOLUTION SET	48	\$7,196	\$345.389
3C0142	ACCESS IV TUBING / COMPONENTS	08541205623	CONTINU-FLO SOLUTION SET	48	\$11.029	\$529.391
3C0157	ACCESS IV TUBING / COMPONENTS	08541207341	CLEARLINK SYSTEM BURETROL	12	\$18.575	\$222.904
3C0158	ACCESS IV TUBING / COMPONENTS	08541207361	CLEARLINK SYSTEM CONTINU-FLO	48	\$13.294	\$638.108
3C0160	Other	08541207408	CLEARLINK CONTINU-FLO SET	48	\$12.281	\$589.511
3C0162	ACCESS IV TUBING / COMPONENTS	08541207629	CLEARLINK CONTINU-FLO 10DPM	48	\$13.610	\$653.273
3C0169	ACCESS IV TUBING / COMPONENTS	85412080227	STOPCOCK WITH EXTENSION SET	48	\$4.019	\$192.890
3C0180	Other	8541209011	CLEARLINK SYSTEM NON- DEHP	48	\$9.313	\$447.004
4C6766	ACCESS IV TUBING / COMPONENTS	08541203146	INTERLINK STRAIGHT TYPE	48	\$4.412	\$211.768
4C6772	ACCESS IV TUBING / COMPONENTS	08541204627	I/L Y-TYPE BLD/SOL SET	48	\$5.367	\$257.632

ACCESS IV TUBING / COMPONENTS	08541203147	INTERLINK STRAIGHT BLOOD	48	\$11.344	\$544.520
ACCESS IV TUBING / COMPONENTS	08541203119	INTERLINK Y-TYPE BLOOD SET	48	\$14.474	\$694.751
ACCESS IV TUBING / COMPONENTS	08541206529	INTERLINK Y-TYPE BLOOD SET	48	\$16.532	\$793.551
ACCESS IV TUBING / COMPONENTS	08541204612	ADD-ON LARGE STD BLOOD	48	\$3.352	\$160.896
ACCESS IV TUBING / COMPONENTS	85412046230	Y-TYPE BLD/SOLN SET W/L	48	\$5.371	\$257.797
ACCESS IV TUBING / COMPONENTS	08541200533	40/150 MICRON DUAL SCREEN	48	\$8.560	\$410.862
ACCESS IV TUBING / COMPONENTS	08541207298	CL Y-TYPE BLOOD SET,	48	\$5.791	\$277.992
ACCESS IV TUBING / COMPONENTS	08541204907	CL BLOOD SET Y-TYPE	48	\$7.697	\$369,464
ACCESS IV TUBING / COMPONENTS	08541207483	CL NON-DEHP Y-TYPE BLOOD/SOL'N	48	\$8.664	\$415.856
Other	00338634602	5% DEXTROSE INJ, USP 250ML IN	40	\$4.312	\$172.469
Other	00338634603	5% DEXTROSE INJ, USP 500ML IN	24	\$4.456	\$106,954
Other	00338634703	10% DEXTROSE INJ, USP 500ML IN	24	\$4,456	\$106,954
Other	00338630803	5% DEXTROSE & 0.45% SODIUM	24	\$3.789	\$90.945
Other	00338630402	0.9% SODIUM CHLORIDE INJ, USP	40	\$3.666	\$146.654
Other	00338630403	0.9% SODIUM CHLORIDE INJ, USP	24	\$3.789	\$90.945
Other	00338630703	LACTATED RINGER'S INJ USP	24	\$3.789	\$90.945
ACCESS IV TUBING / COMPONENTS	08541209095	VITALHOLD STD BORE EXTSET W/VL	50	\$7,640	\$382.003
ACCESS IV TUBING / COMPONENTS	08541209096	VITALHOLD MICROBO EXT SET W/VL	50	\$7.620	\$380.991
Other	08541209097	GRIP-LOK STND Y- EXT SET W/ VL	50	\$8.350	\$417.503
ACCESS IV TUBING / COMPONENTS	08541208831	VL MICO Y CATH EXT SET WITH	200	\$8.000	\$1,600.024
ACCESS IV TUBING / COMPONENTS	08541208832	V-LINK MICROBORE CATH EXT WITH	50	\$5.097	\$254.856
ACCESS IV TUBING / COMPONENTS	08541208833	VL STD BORE Y CATH EXT SET	50	\$6.655	\$332.736
ACCESS IV TUBING / COMPONENTS	08541208834	V-LINK STD BORE IV CATH EXT	50		\$159.229
ACCESS IV TUBING / COMPONENTS	08541208830	V-LINK LUER ACTIVATED DEVICE	200		\$419.036
ACCESS IV TUBING /		HIGH PRESSURE EXTENSION		-2.0.0	
COMPONENTS	08541208965	SET	50	\$2.520	\$125,983
	08541208965 08541209183	SET ONE-LINK HP MICROBORE CATH EXT	200	\$2.520 \$2.713	\$125.983 \$542.640
	COMPONENTS  ACCESS IV TUBING / COMPONENTS  Other  Other  Other  Other  Other  Other  Other  Other  ACCESS IV TUBING / COMPONENTS  ACCESS IV TUBING / COMPONENTS	COMPONENTS  ACCESS IV TUBING / COMPONENTS  Other  Oth	COMPONENTS	COMPONENTS   08541203147   INTERLINK STRAIGHT BLOOD   48	COMPONENTS

Needleless Connectors	08541247672	OL PI MICROBORE CATH EXT SET	200	\$2.767	\$553.493
ACCESS IV TUBING / COMPONENTS	08541209182	ONE-LINK MICROBORE Y TYPE	200	\$3.553	\$710.685
ACCESS IV TUBING / COMPONENTS	08541209180	ONE-LINK STD BORE Y TYPE	200	\$3,376	\$675.240
ACCESS IV TUBING / COMPONENTS	08541209179	ONE-LINK STD BORE CATH EXT SET	200	\$2.749	\$549.809
Needleless Connectors	08541247541	OL BONDED PI MICRO EXT SET	200	\$2.795	\$558,919
Needleless Connectors	08541247540	OL BONDED PI STD BORE EXT SET	200	\$2.916	\$583.292
ACCESS IV TUBING / COMPONENTS	08541209178	ONE-LINK NEEDLEFREE IV	200	\$1.394	\$278,725
Other	08541207976	MINIDRIP SOL SET 60 DPM 67"	48	\$1.156	\$55.500
Other	08541207968	SOL SET W/DUOVENT 10 DPM 103	48	\$1.104	\$52.995
Other	08541207969	SOL SET W/DUOVENT 10 DPM 104	48	\$1.162	\$55.792
Other	08541207970	C-FLO SOL SET, DV, 10 DPM 105	48	\$1.969	\$94.522
Other	08541207971	EXT SET,42",NB Y @ 6"& 34"	48	\$1.135	\$54,498
Other	08541207972	EXT SET 37" MLL W/RETRACTABLE	48	\$0.639	\$30.672
Other	85412079733	EXT SET CONTROL-A-FLO, 19i	48	\$3.703	\$177.744
Other	08541207974	CONTROL -A-FLO-SOLN SET 99"	48	\$5.679	\$272.600
Other	08541207975	SOL SET DUO-VENT 10 DPM 104"	48	\$2.071	\$99.421
Other	08541207967	CONTINU-FLO SOL SET 10 DPM 106	48	\$3.898	\$187.088
DRUG DELIVERY	08541247572	REPEATER PUMP TUBE SET	10	\$15.891	\$158.905
DRUG DELIVERY	08541247659	REPEATER PUMP TUBE SET	10	\$15.891	\$158.905
DRUG DELIVERY	08541247651	REPEATER PUMP TUBE SET	10	\$16.034	\$160.343
DRUG DELIVERY	08541247690	REPEATER PUMP TUBE SET	10	\$18.879	\$188.792
DRUG DELIVERY OTHER	08541247829	STERILE LUER LOCK TO URETHERA	50	\$2.036	\$101.824
DRUG DELIVERY OTHER	08541247830	ADAPTER LL TO CATHETER TIP	50	\$1.880	\$93.996
DRUG DELIVERY	08541247832	PFHA ST RFA LUER TO LUER SLI	50	\$0,903	\$45.171
DRUG DELIVERY	08541247833	RAPIDFILL CONNECTOR WITH CAP	50	\$1.373	\$68.656
NUTRITION	08541247834	GEL BAG SET STERILE	10	\$16.847	\$168.473
DRUG DELIVERY	08541247835	RAPIDFILL CONNECTOR	50	\$1.192	\$59.610
	ACCESS IV TUBING / COMPONENTS ACCESS IV TUBING / COMPONENTS ACCESS IV TUBING / COMPONENTS Needleless Connectors ACCESS IV TUBING / COMPONENTS Other	ACCESS IV TUBING / COMPONENTS 08541209182  ACCESS IV TUBING / COMPONENTS 08541209180  ACCESS IV TUBING / COMPONENTS 08541209179  Needleless Connectors 08541247541  Needleless Connectors 08541247540  ACCESS IV TUBING / COMPONENTS 08541209178  Other 08541207976  Other 08541207976  Other 08541207970  Other 08541207971  Other 08541207971  Other 08541207972  Other 08541207973  Other 08541207975  Other 08541207975  Other 08541207975  Other 08541207975  Other 08541207975  Other 08541247572  DRUG DELIVERY 08541247659  DRUG DELIVERY 08541247659  DRUG DELIVERY 08541247690  DRUG DELIVERY 08541247690  DRUG DELIVERY 08541247830  DRUG DELIVERY 08541247830  DRUG DELIVERY 08541247833  NUTRITION 08541247834	Needleless Connectors	ACCESS IV TUBING / COMPONENTS	Needleless Connectors   08541247672   SET   200   \$2.767

				г——	·	
H93813901	DRUG DELIVERY	08541247836	RAPIDFILL CONNECTOR	50	\$1,083	\$54.159
H93813915	DRUG DELIVERY	08541247837	RAPIDFILL CONNECTOR WITH CAP	50	\$1.346	\$67.322
H93813MPI	Other	08541248066	REPEATER PUMP TUBE SET	10	\$7.250	\$72.499
H93816004	DRUG DELIVERY OTHER	08541247839	TWOFER NEEDLE	100	\$0.536	\$53.579
Н93816045	DRUG DELIVERY OTHER	08541247840	TWOFER NEEDLE	500	\$0.517	\$258.619
H938173	NUTRITION	08541247578	EXACTAMIX INLET	25	\$4.718	\$117.944
Н938174	NUTRITION	08541247579	EXACTAMIX INLET	25	\$4.718	\$117.944
Н938175	NUTRITION	08541247580	EXACTAMIX INLET	25	\$4.718	\$117.944
Н938176	NUTRITION	08541247581	EXACTAMIX INLET	25	\$4.718	\$117.944
H93819003	DRUG DELIVERY OTHER	08541247841	TWOFER NEEDLE	100	\$0.524	\$52.420
H93819035	DRUG DELIVERY OTHER	08541247842	TWOFER NEEDLE	500	\$0.517	\$258.619
H93819045	DRUG DELIVERY	08541247843	IVA STERILE 0.22MIC VENTING P	50	\$1.018	\$50.893
H93821	DRUG DELIVERY	08541247652	REPEATER PUMP TUBE SET	10	\$16.751	\$167.511
H93821002	DRUG DELIVERY	01376548265	SYR FILTER SUPOR 25MM 0.2 M	50	\$2.123	\$106.173
Н93821012	DRUG DELIVERY	01376548266	SYR FILTER SUPOR 25MM 1.20M	50	\$2.123	\$106.173
H93821050	DRUG DELIVERY	01376548267	SYR FILTER SUPOR 25MM 5.0 M	50	\$2.123	\$106.173
H93824640	DRUG DELIVERY	01376548270	SYR FILTER SUPOR 32MM 5.0 M	50	\$2,958	\$147.923
H93824642	DRUG DELIVERY	01376548271	SYR FILTER SUPOR 32MM 0.2 M	50	\$2,761	\$138.065
H93824644	DRUG DELIVERY	01376548272	SYR FILTER SUPOR 32MM .45 M	50	\$3.061	\$153.026
H93824648	DRUG DELIVERY	01376548273	SYR FILTER SUPOR 32MM 1.2 M	50	\$2,761	\$138.065
H93826	DRUG DELIVERY	08541247653	REPEATER PUMP TUBE SET	10	\$20.698	\$206.976
Н93829	DRUG DELIVERY	08541247654	UNIVERSAL SPIKE LUER LOCK	20	\$4.196	\$83,928
H93830000	NUTRITION OTHER	08541247850	KWIKVIAL LABELS	3500	\$0.022	\$77.122
H93830005	NUTRITION OTHER	08541247851	KWIK VIAL LABELS	3500	\$0,029	\$101.476
H93830008	NUTRITION	08541247852	KWIK VIAL FILLING EXTENSION	50	\$0.923	\$46.157
H93830009	NUTRITION	17191030009	KWIK VIAL PLUG DISPENSER	1	\$196.809	\$196.809
H93830015	NUTRITION	08541247855	KWIK VIAL CONTAINERS 15ML CS	300	\$0.365	\$109.594

NUTRITION OTHER	08541247856	TAMPER INDICATING FOIL SEALS	1000	\$0.081	\$81.181
NUTRITION	08541247857	KWIK VIAL CONTAINERS 30ML CS	300	\$0.451	\$135.340
DRUG DELIVERY	08541247700	REPEATER PUMP TUBE SET	10	\$17.409	\$174.086
DRUG DELIVERY	08541247655	50 MM FILTER 0.2 MICRON	01	\$13.798	\$137.984
NUTRITION	08541247768	EXACTAMIX ADAPTER	50	\$3.839	\$191.934
NUTRITION	08541247769	EXACTAMIX ADAPTER	50	\$3.497	\$174.828
NUTRITION	08541247860	LUER LOCK TO ORAL CONNECTOR	50	\$0.995	\$49.752
NUTRITION	08541247861	LUER LOCK TO ORAL CONNECTOR	50	\$1,246	\$62.277
Other	08541247866	SHRINKSAFE PARALYTIC ID BAND	250	\$0.305	\$76.252
DRUG DELIVERY	08541247656	REPEATER PUMP TUBE SET	10	\$20.685	\$206.848
DRUG DELIVERY	08541247657	STERILE EMED DISPENSING PIN	50	\$1.817	\$90.864
NUTRITION	01376547731	BAG ADD PORT CAP	100	\$0.500	\$50.044
DRUG DELIVERY	01376548259	ADMIX DISPENSING PIN	50	\$1.963	\$98.171
DRUG DELIVERY OTHER	08541247658	TOP FILL BAG 1500 ML	25	\$9.718	\$242.962
DRUG DELIVERY	08541247868	PORT SAVER HUBER PT STERILE	100	\$1.496	\$149.604
Other	01376548261	OHAUS SCOUT PRO BALANCE SP401	1	\$361.080	\$361.080
DRUG DELIVERY	08541247663	EXACTAMIX EMPTY COLLECTION BAG	50	\$6.729	\$336.436
DRUG DELIVERY	08541247664	EXACTAMIX EMPTY COLLECTION BAG	50	\$7.370	\$368.502
DRUG DELIVERY	08541247665	EXACTAMIX EMPTY COLLECTION BAG	50	\$7.798	\$389.899
DRUG DELIVERY	08541247666	EXACTAMIX EMPTY COLLECTION BAG	50	\$10.367	\$518.339
Other	08541247704	MINIBORE ADMIN SET 60 IN	50	\$2.077	\$103.830
Other	08541247705	MINIBORE ADMIN SET 30 IN	50	\$3.185	\$159.253
Other	08541247706	MINIBORE ADMIN SET	20	\$5.115	\$102.299
Other	08541247708	MINIBORE ADMIN SET 30 IN	50	\$5.243	\$262.144
DRUG DELIVERY	08541247668	REPEATER PUMP TUBE SET	10	\$22.049	\$220.487
DRUG DELIVERY	08541247669	REPEATER PUMP TUBE SET	10	\$25.169	\$251.695
DRUG DELIVERY OTHER	01376548276	TIPCAP TAMPER EVID STERILE	100	\$0.406	\$40.590
	DRUG DELIVERY  DRUG DELIVERY  NUTRITION  NUTRITION  NUTRITION  NUTRITION  Other  DRUG DELIVERY  DRUG DELIVERY  DRUG DELIVERY  DRUG DELIVERY  OTHER  DRUG DELIVERY  Other  DRUG DELIVERY  Other  DRUG DELIVERY  Other  DRUG DELIVERY  Other  Other  Other  Other  Other  DRUG DELIVERY  DRUG DELIVERY	NUTRITION         08541247857           DRUG DELIVERY         08541247700           DRUG DELIVERY         08541247765           NUTRITION         08541247768           NUTRITION         08541247769           NUTRITION         08541247860           NUTRITION         08541247861           Other         08541247666           DRUG DELIVERY         08541247656           DRUG DELIVERY         01376547731           DRUG DELIVERY         01376548259           DRUG DELIVERY         08541247658           DRUG DELIVERY         08541247668           Other         01376548261           DRUG DELIVERY         08541247663           DRUG DELIVERY         08541247664           DRUG DELIVERY         08541247665           DRUG DELIVERY         08541247704           Other         08541247705           Other         08541247706           Other         08541247708           DRUG DELIVERY         08541247668           DRUG DELIVERY         08541247669	NUTRITION OTHER	NUTRITION OTHER   08541247856   SEALS   1000	NUTRITION OTHER   08541247856   SEALS   1000   \$0.081

H93864110	DRUG DELIVERY OTHER	01376548277	TAMPER EVID LUER LOCK TIP CAP	1000	\$0.296	\$295.730
H93865	NUTRITION	08541247670	EXACTAMIX TUBE SET EXTENSION	50	\$4.674	\$233.684
H93865001	DRUG DELIVERY OTHER	08541247882	PFHA STERILE LUER LOCK TIPCAP	100	\$0.220	\$22.035
Н93866	NUTRITION	08541247671	EXACTAMIX ADAPTER	10	\$3.340	\$33.400
H93866001	DRUG DELIVERY OTHER	08541247883	STER LUER SLIP TIP CAP YELLOW	100	\$0.263	\$26.326
H93866025	DRUG DELIVERY OTHER	08541247884	TIP CAPS LUER SLIP YELLOW	500	\$0.111	\$55.667
Н93866100	DRUG DELIVERY OTHER	08541247885	TIP CAPS LUER SLIP YELLOW IND	1000	\$0.078	\$77.702
Н93867025	DRUG DELIVERY OTHER	08541247886	TIP CAPS LUER SLIP STERORNG	500	\$0,111	\$55,667
Н93867031	NUTRITION	08541247887	LOCKING TIP CAP	25	\$2.176	\$54.391
H93867100	DRUG DELIVERY OTHER	08541247889	TIP CAPS LUER SLIPSTER ORNG	1000	\$0.078	\$77.702
H938671025	DRUG DELIVERY OTHER	08541247974	TIP CAPS LUER SLIP WHITE 25	500	\$0.111	\$55.667
H938671100	DRUG DELIVERY OTHER	08541247975	TIP CAPS LUER SLIP WHT	1000	\$0.078	\$77.702
H938672025	DRUG DELIVERY OTHER	08541247976	TIP CAPS LUER SLIP TAN 25	500	\$0.111	\$55.667
H938672100	DRUG DELIVERY OTHER	08541247977	TIP CAPS LUER SLIP TAN	1000	\$0.078	\$77.702
H938673025	DRUG DELIVERY OTHER	08541247978	TIP CAPS LUER SLIP DK BL 25	500	\$0.111	\$55.667
H938673100	DRUG DELIVERY OTHER	08541247979	TIP CAPSLUER SLIP DK BL	1000	\$0.078	\$77.702
H938674025	DRUG DELIVERY OTHER	08541247980	TIP CAPS LUER SLIP GRN 25	500	\$0.111	\$55.667
H938674100	DRUG DELIVERY OTHER	08541247981	TIP CAPS LUER SLIP GRN	1000	\$0.078	\$77.702
H938675025	DRUG DELIVERY OTHER	08541247982	TIP CAPS LUER SLIP GRY 25	500	\$0.111	\$55.667
H938675100	DRUG DELIVERY OTHER	08541247983	TIP CAPS LUER SLIP GRY	1000	\$0.078	\$77.702
H938676025	DRUG DELIVERY OTHER	08541247984	TIP CAPS LUER SLIP PNK 25	500	\$0.111	\$55.667
H938676100	DRUG DELIVERY OTHER	08541247985	TIP CAPS LUER SLIP PNK	1000	\$0.078	\$77.702
H93867702 <i>5</i>	DRUG DELIVERY OTHER	08541247986	TIP CAPS LUER SLIP PURP 25	500	\$0.111	\$55.667
H938677100	DRUG DELIVERY OTHER	08541247987	TIP CAPS LUER SLIP PURP	1000	\$0.078	\$77.702
H93867802 <i>5</i>	DRUG DELIVERY OTHER	08541247988	TIP CAPS LUER SLIP BRN 25	500	\$0.111	\$55.667
H938678100	DRUG DELIVERY OTHER	08541247989	TIP CAPS LUER SLIP BRN	1000	\$0.078	\$77.702
H938679025	DRUG DELIVERY OTHER	08541247990	TIP CAPS LUER SLIP LT BL 25	500	\$0.111	\$55.667

	ducts Divisions					
H9386 <b>7</b> 9100	DRUG DELIVERY OTHER	08541247991	TIP CAPSLUER SLIP LT BL	1000	\$0.078	\$77.702
H93868025	DRUG DELIVERY OTHER	08541247890	TIP CAP LUER SLIPSTERBLACK	500	\$0.111	\$55.667
H93868100	DRUG DELIVERY OTHER	08541247891	TIP CAP LUER SLIPSTERBLACK	1000	\$0.078	\$77.702
Н93869	NUTRITION	08541247673	MICROMACRO VALVE SET	10	\$56.415	\$564.148
H938690001	DRUG DELIVERY OTHER	08541247992	TIPCAP LUER LOCK YELLOW IN	50	\$0.475	\$23.757
Н93869001	DRUG DELIVERY OTHER	08541247892	TIPCAP LUER LOCK GRN STER	50	\$0.494	\$24.702
H938690025	DRUG DELIVERY OTHER	08541247994	TIPCAP LUER LOCK YELLOW 25	500	\$0.233	\$116.552
H93869025	DRUG DELIVERY OTHER	08541247893	TIPCAP LUER LOCK STER GRN	500	\$0.233	\$116.552
H93869100	DRUG DELIVERY OTHER	08541247894	TIPCAP LUER LOCK GREEN 100	1000	\$0.194	\$193.674
H938693	NUTRITION	08541247715	MICROMACRO VALVE SET SECONDARY	10	\$26.163	\$261.634
H938693001	DRUG DELIVERY OTHER	08541247995	TIPCAP LUER LOCK DK BLUE IN	50	\$0,464	\$23.194
H938693025	DRUG DELIVERY OTHER	08541247996	TIPCAP LUER LOCK DK BLUE 25	500	\$0,231	\$115,393
H938696025	Other	08541247997	TIPCAP LUER LOCK PINK	500	\$0.242	\$120.927
H938706	NUTRITION	08541247716	EXACTAMIX 600 VALVE SET	4	\$55.058	\$220.232
H938706D	NUTRITION	08541248130	EXACTAMIX 600 VALVE SET	4	\$45.217	\$180.870
H93871	NUTRITION	08541247674	MICROMACRO TUBE SET	10	\$25,444	\$254.444
H938711006	NUTRITION	08541248005	CAP LG BORE EXT THD STER	50	\$0.557	\$27.833
H938711008	NUTRITION	08541248006	CAP LG BORE INT THD STER	50	\$0.557	\$27.833
Н938713	NUTRITION	08541247717	MICROMACRO VALVE SET	10	\$48.013	\$480.126
H938724	NUTRITION	08541247718	EXACTAMIX 2400 VALVE SET	10	\$61.768	\$617.681
Н93873	NUTRITION	08541247675	MICROMACRO INLET	100	\$5.142	\$514.222
H938735	NUTRITION	08541247720	CALIBRATION BAG 1000ML	50	\$5.345	\$267.270
H93874	NUTRITION	08541247676	MICROMACRO INLET	100	\$5.142	\$514.222
H938747	NUTRITION	08541247728	EXACTAMIX VENTED SPIKE ADAPTER	10	\$3.798	\$37.981
H93875	NUTRITION	08541247677	MICROMACRO INLET	100	\$5.142	\$514.222
H938751	NUTRITION	08541247729	EXACTAMIX VENTED SPIKE	25	\$5.172	\$129.309
H93876	NUTRITION	08541247678	MICROMACRO INLET	50	\$5.038	\$251.892

US HOSPITAL PT	Duucts Divisions					
H93877	NUTRITION	08541247679	MICROMACRO INLET	25	\$7.849	\$196.226
Н93878	NUTRITION	08541247680	EXACTAMIX GRAVITY MIXING SET	50	\$11.277	\$563.858
Н93879	NUTRITION	08541247681	EXACTAMIX GRAVITY MIXING SET	50	\$14.209	\$710.447
Н938792	NUTRITION	08541247730	EXACTAMIX 1200 VALVE SET	10	\$44.354	\$443.542
Н93884	NUTRITION	08541247682	EXACTAMIX ADAPTER	50	\$1.876	\$93.822
Н93884Е	NUTRITION	08541248137	EXACTAMIX ADAPTER	50	\$1.790	\$89,519
Н93886	DRUG DELIVERY	08541247683	TUBE SET EXTENSION	50	\$3.504	\$175.176
Н93887	DRUG DELIVERY	08541247684	TUBE SET EXTENSION	50	\$3.305	\$165.261
Н93890	DRUG DELIVERY	08541247685	14MM VIAL ADAPTER	50	\$1.549	\$77.470
Н93891	DRUG DELIVERY	08541247686	20MM VIAL ADAPTER	50	\$1.682	\$84.080
Н93892	DRUG DELIVERY	08541247687	VIAL ADAPTER WITH SMARTSITE	20	\$4.185	\$83.709
Н93893	DRUG DELIVERY	08541247688	BAG SPIKE WITH SMARTSITE	20	\$3.748	\$74.965
H93894	DRUG DELIVERY	08541247689	BAG SPIKE	20	\$5.046	\$100.919
UMC5400	Other	01376025241	BASIC SOLUTION SET, 20 DPM	50	\$1.199	\$59.973